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The following table shows the percentage (%) distribution of the number of students (Boys
and Girls) and the number of girls who are enrolled in five different games, namely, Basketball,
Soccer, Badminton, Cricket and Tennis, in a School during the session 2022-23. A total number of
6000 students are enrolled in all the five games in the school in which the number of girls is 3500.
Based on the data in the table, answer the questions that follow.

Game-wise Enrollment of students in a school

Percentage Distribution of
Game
Students Enrolled (Out of 6000) Girls Enrolled (Out of 3500)
Basketball 16% 14 %
Soccer 21% 28%
Badmmton 14% 16%
Cricket 29% 20%
Tennis 20% 22%

Sub questions

Question Number : 1 Question Id : 5330722366 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the number of boys who are enrolled in the game Basketball ?

(1) 805
(2) 430
(3) 840
) 470

Question Number : 2 Question Id : 5330722367 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the difference between the number of girls and the number of boys who are enrolled in the
game of Tennis ?

(1) 340
() 370
(3) 390
4) 320

Question Number : 3 Question Id : 5330722368 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Number of boys who are enrolled in Cricket is approximately % more than the number
of students who are enrolled in Badminton.

(1) 21.79

(2) 22.71

(3) 23.81

(4) 25.91

Question Number : 4 Question Id : 5330722369 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Number of boys who are enrolled in Soccer is % of the number of boys who are enrolled
in all the five sports games.

(1) 10.2

(2} 11r2

&y 122

(4) 13.2

Question Number : S Question Id : 5330722370 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How many boys are enrolled in Soccer and Tennis together ?

(1) 610
() 640
(B) 720
@) 710

Question Id : 5330722365 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

e e ® ek formera ® 202223 99 F WA aIRohedrd, Feard, defied, fhhe iR 2w
ATF Yie STAT-STe Well § AWifha foafedal (sers 9 aifeerd) @i 9& 9 aifeenisii @ §&1 #6
ferr( %) feraor giien e ¥ Ternera # %@ 6000 fomnefl & e @eli | Amifea € o | anfeemsti =t
T&AT 3500 T | iR H YEd BT % SNUR W, 3T I8 T4 W & 3T ST |

oo™ ¥ faenfet =1 @a-ar AmieEA

yferera faazor
FeT srATfasa faameff (6000 # &) | @wifda aiferast (3500 7 )
TR-GCaTe 16% 14%
peaTel 21% 28%
Ssffiest 14% 16%
F¥e 29% 20%
e 20% 22%

Sub questions

Question Number : 1 Question Id : 5330722366 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ATEhREATe o Wl H AWifehd STeiehl i G &1 § ?

(1) 805
(2) 430
(3) 840
4) 470
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Question Number : 2 Question Id : 5330722367 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 & @a # Tmifera anfereristi ®1 S 3R aetehi 1 S o sia o R =1 e ?

(1) 340
() 370
(3) 390
4) 320

Question Number : 3 Question Id : 5330722368 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forepe o Amifera a1 dem Sefhe | Amifewa faenfert = g & e % HIEF T |
1) 21.79
@ 22.71
(3) 23.81
4) 25.91

Question Number : 4 Question Id : 5330722369 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FedTed H AHifET o] i G g o well § A SerR i H5en i % ¥
1 10.2
@ 11.2
@) 122
4) 13.2

Question Number : 5 Question Id : 5330722370 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Feara i ey # faete fore wrere amiferd € 2

(1) 610

(2) 640

() 720

(4) 710
Sub-Section Number : 2
Sub-Section Id : 53307298
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5330722371 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

'I never teach my pupils; I only attempt to provide the conditions in which they can learn’ is a
statement by :

(1) Swami Vivekananda

(2) Albert Einstein

(3) Sri Aurbindo

(4) Aristotle
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Question Number : 6 Question Id : 5330722371 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B o BTE T off ver T 7, § how UE uRffaat Suers e § e 3 O 99 -9 e
frefafas sfm #F1 ¢ :

(1) @ fagsHs
(2) e FEEH
(3) f sRfer<

(4) SHF

Question Number : 7 Question Id : 5330722372 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the context of learning, which of the following DOES NOT represent the self concept ?
) It is what an individual feels about others.

(2) Itis what an individual feels how others think/perceive of him/her.

(3) Itis an awareness of the individual about his/her strengths.

(4) It is an awareness of the individual about his/her weaknesses.

Question Number : 7 Question Id : 5330722372 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

st & ded # fefafga § € Sa-—a  stren sraamon’ =5 gfafafie 1@ e ?

(1) Tore =afed gR0 S84 3 9 Hegd 1 T 96 |

(2) T oafaa gro sgF o A gl g e e /g 7 o |
(3) T&d T/ IO /emared % IR H ot wafa o Stee |
(4) = F FHSAA & IR H FHH =t F S |

Question Number : 8 Question Id : 5330722373 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following correctly represent characteristics of teaching ?
(A) To provide guidance and training to students

(B) Interaction between authorities

(C) To provide formal and informal education

(D) An art to import knowledge to students in an effective way

(E) To prepare policies for corporate bodies

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (A), (D) and (E) Only

(3) (A), (C) and (D) Only

(4) (O, (D) and (E) Only

Question Number : 8 Question Id : 5330722373 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frAfafas o & SH-df fodmars fasro =1 wd gfafafes = € 2
(A) B o AFTEYF IR gferaon <

(B) WIfH=RIEl & &= Harg

(C)  sfrorenfiar R arerg=niier fo1en gem &
(D) BTl I GATE 1 H JH UM FA Hl Fell
(B) wdie frarrai & fore wiifearl Sam s
= feu o fased § 9 Qe W F T4 HIAC ;
(1) e (A) TR (B)

(2) = (A), (D) &R (E)

(3) &= (A), (C) 3R (D)

(4) = (O), (D) ¥R (E)

Question Number : 9 Question Id : 5330722374 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I1
(Learning style) (Characteristic)
A) Converger I They are best at concrete experience and reflective observation.
& ey P

Their strength is their i_magi_m:ltive abi_lity They tend to be
interested in penple and emotonal elements.

(B) Diverger (Il) They are good at Abstract Conceptualization and Active
Experimentation like solving problems; practical application of
ideas.

(C) Assimilator (IlI) They enjoy and seek new experiences and adopt to new

situations; and are intuitive, risk-takers open minded.

(D) Accomodator (IV) Ability to create theoretical models; possess sound logic,
inductive reasoning, Analytic less interested in people.

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(IID), (C)-(II), (D)-(I)
(2)  (A)-(), (B)-(ID), (O)-(1), (D)-(1V)
(3)  (A)-(1D), (B)-(I), (C)(IV), (D)-(III)
4 (A)-1), (B}(ID), (O)~), (D)-(IV)

Question Number : 9 Question Id : 5330722374 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e
Tt - 1 et - 11
( 3fermm ( afurereroT )
(A) TS () 329 sryEl SR femaeie Garoi & fore wataw g 1 39 ufsa
FTH] FEGARIST il AFGAT | T 9 S SR WraHraTes aol J s
T g |
(B) ETHESR () o oTod Hyciem 3R 9w TEr S8 auemel o gEeE o,
forami o =Eeris ST § o7 B B
(C) reqETasal (L)) & 9T TS FTd & S ITH 378 o & AR 72 gftfeefadi & stqga
T M 2; St 2 g, Sifem e € ol wer femm arct 2 #
(D) THwE (IV) =79 Sgifcsk AiSTl &1 o1 HA T &0 Bl ¢ 19 deh YIfaR gl €
FTHATCH: Toh I 21t ¢, & faveror e aret 2ra § o ot 3 %9
4 ww@Ed 2
v feu o fawmedi § | WE I F =TI FIfAU
(1) (AHIV), (B)-(LID), (O)-(11), (D)-(I)
(2) (A)-(Im), (B)«(ID), (©)-1), (D)-(IV)
(3) (A1, (B)-(I), (O)-(IV), (D)~(I0)
(4)  (AHD), (By-(IT), (O-(Im), (D)-(IV)

uestion Number : 10 Question Id : 5330722375 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

i

(
(
(
(

Q

Education is the manifestation of perfectio:n a]_ready mn man” is a statement by :

1) Rabindranath Tagore

2y M.K. Gandhi

3)  Sri Aurobindo

4) Swami Vivekananda

uestion Number : 10 Question Id : 5330722375 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

]

(
(
(
(

Q
C

“foreat, W H vESt @ A feem ol B Yok 8 Foreiferfian # @ for st o e 2

1) =T 2R

2)  THE. T

3) ot afa=

4) @ faeEHe

uestion Number : 11 Question Id : 5330722376 Question Type : MCQ Option Shuffling : No

orrect Marks : 2 Wrong Marks : 0
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Survey research on a single, case with a view to revealing important features about its nature,

corresponds to which of the [nllowi_ng research designs ?
(1) Cross - sectional

(2) Longitudinal
(3) Case study
(4) Comparative

Question Number : 11 Question Id : 5330722376 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ot wehet W () # 3H@ Uohfa Hadt Hemyul sfieremii @1 3SR #A #1 gfe 9 foean s aren

e vy = § § 9 ¥ Wy oifiehed & guey €2
(1) gfafeaTeass

2 oA
(3) RO HAETH
{4) qefrcHsh

Question Number : 12 Question Id : 5330722377 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the I‘D]lDWi.ng is concerned with the question whether the measure of a concept truly

represents that concept ?
(1) internal validity

(2) external validity
(3) construct validity
(4) transferability

Question Number : 12 Question Id : 5330722377 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1 % 9 [ 39 7§ Heitua € for 5 Tt deheamn =1 A9 9 wraa o Se Heheu 1 Wittt s

€7

(1)  safteR e
(2) @ o

(3) TafHa Sz
(4)  SFariaa

Question Number : 13 Question Id : 5330722378 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the data sets with following pairs of mean (x)and standard direction () in increasing

order of their coefficient of variation.
(A) a=50o=12

(B)
(©)

=550c=10

= |

= |

=60,0=14

@) x=70,0=15
Choose the correct answer from the options given below :
(1) (A), (B) (©), (D)
(2) (B), (D) (Q), (A)
(3) (©. (D) (A), (B)
(49) (D) (B) (A) (Q)

Question Number : 13 Question Id : 5330722378 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl ¥ % WA (x) 9 HEe foEer (o) It R Il el SR YR e % wed 3 H erattem
Hifer ;

(AY x=500=12

(B)
(©)

=55 0c=10

=1

= |

=60,0c=14

(DY x=70,0="15
= feu o fawedi 9 Qi I F1 =T FfST
(1) (A), (B) (C), (D)
(2) (B), (D) (©), (A)
3) (©), (D) (A), (B)
(4) (D), (B) (A), (©)

Question Number : 14 Question Id : 5330722379 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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According to UGC Regulations 2018 on plagiarism, a student’s registration in the Ph.D. Program
will be cancelled for which of the fD]lDwi_ng similarities percentage in the thesis ?

(A) 37%

(B) 46%
(C) 58%
(D) 62%
(E) 78%

Choose the correct answer from the options given below :
(1) (A), (B) (O), (D) Only

@ (®), (© (D), (E) Only

(3) (), (D) and (E) Only

(4) (D) and (E) Only

Question Number : 14 Question Id : 5330722379 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

uifeferes =k Fast 350490 faftem 2018 % STER Rl 9. 0=, Fedsn & foaenef &1 gsiewon 39s
e gay 3 = § | fopan wiosra gwmar & s 1§ fman s ?

(A) 37%
(B) 46%
(C) 58%
(D) 62%
() 78%

= fau o faredi § 9 Qe IR 1 999 FIfE
(1) FEe (A), (B) (C) &R (D)

(2) FF (B), (O) (D) 3R (E)
(3) = (C), (D) 3R (E)
(4) HF (D) 3T (E)

Question Number : 15 Question Id : 5330722380 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Type of variable) (Example)
(A) Nominal (I) Distance
(B) Ordinal (I1) Marital status
(C) Interval (IlI) Movie ratings
(D) Ratio (IV) Location of places in Latitude degrees

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(1D), (©)-(1), (D)-(IV)

@ (A1), (B)-(11), (©)-@), (D)-1V)
() (A, (B)-(1V), (O)-(11), (D)-()
@) (A1), (B)-(1), (©)-1V), (D)-(1)
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Question Number : 15 Question Id : 5330722380 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[t - 1 T e - 1 o1 foe i)
Tt - 1 et - 11

(X F USHT) ( 3erET )
(A) TR o T
(B) THHIIF (I) =efess =i
(C) sHauafy (1) =rf= e
(D) =9 (IV) =3eqie feait | i &l farefa

= fau o faskedi # @ W&t IW /T HTAC
(1) (A)-(), (B)-(1D), (O)-1), (D)-(1V)
(2 (A)-(D), (B)-(ID, (C)-1), (D)-(IV)
(3) (A, (B)-(IV), (O)-(ID), (D)-()
(4) (A1), (B)-(LID), (C)-V), (D)-()

Question Number : 16 Question Id : 5330722381 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Devarshi Narada is treated as the first communicator, because :

(1) He always speaks against the others.

(2)

(3) He is not everywhere everytime.
)

(4) He is faithful to his lord.

Question Number : 16 Question Id : 5330722381 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

< ARE T g HERE THT 5§, i

(1) © oW SHY * fEgers =o€ |

(2) 9 TARIE 9 de €, UaTehRRI o s Heaee] T © SR WuTe & aeadl # foae @ wmw
(3) YT HHY W M W HSE T @

(4) 9 319 W F Ufd TEER & € |

Question Number : 17 Question Id : 5330722382 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who invented the Printing process ?

(1) G.Marconi

(2) Tang Dynasty

(3) William Caxton

(4) Johannes Gutenberg

Question Number : 17 Question Id : 5330722382 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HeU U9 1 =90 e fran o ?
(1) i, HERTH

(2) @ SEARRL

(3) Tafeaw wage

(4) Sierg A

Question Number : 18 Question Id : 5330722383 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Write the following types of communication in proper sequence :
(A) Group

(B) Public

(C) Mass communication

(D) Intrapersonal

(E) Interpersonal

Choose the correct answer from the options given below :
(1) (D), (E) (A), (B) and (C)

(2) (E), (D) (O), (B) and (A)

(3) (&), (B) (©), (E) and (D)

(4)  (B), (A) (©), (D) and (E)

Question Number : 18 Question Id : 5330722383 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HaR o frforfaa gerl =i sfEa s § fofa .

(A) HIE

(B) WIESIE

(C) M =R

(D) gt
(E) erdafdas

e feu o foreredl & 9 T S = FE
1 O E (A) B R (O

2) (B), D) (©), (B) AR (A)
(3) (A), (B) (O, (E) ¥R (D)
4) (B), (A) (O, (D) 3R (E)

Question Number : 19 Question Id : 5330722384 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Who sends what to whom in a communication process ?
(A) Channel sends the message to sender.

(B) Sender sends messages to receiver.

(C) Sender sends the feedback receiver.

(D) Receiver sends messages to sender.

Choose the correct answer from the options given below :
(1) (A) Only

() (B) Only

(3) (A) and (D) Only

(4) (B) and (C) Only

Question Number : 19 Question Id : 5330722384 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=R giswar | H g = s ® 2

(A) =, Y9 ] HQ9 Al & |

(B) e, Wriehdl I HeW ST € |

(C) e, wraekal 1 Ffagfiz (Hise) G T
(D) WTeshdl, YUk I GEw T ¥

= fou u foeredi # 9 & IW 1 F9H AT -

(1) I (A)
(2) eI (B)
(3) FE (A) ¥R (D)
(4) = (B) 2R (O)

Question Number : 20 Question Id : 5330722385 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I1
(Communication terms) (Features)
(A) Effective verbal communication () Knowledge and skills
(B) Effective communication (II) Insufficient knowledge

(C) Effective non-verbal communication  (III) Effective speaking
(D) Barrier of communication (IV) Body language
Choose the correct answer from the options given below :

(1) (A)-D, (B)-I), (Q-IV), (D))

2) (A1), (B)-11), ©)-@), (D)-1V)
() (A)-(D), (B)-(D), (O)-(), (D)-(V)
4)  (A)-(I), (B)-(D), (O(1V), (D)1

Question Number : 20 Question Id : 5330722385 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 196 |19 gt - 11 31 e wife |
et - 1 T - 11

(Hu e v ) ( fagrard )
(A) HuET wfeges Higm () TH R R
(B)  wEt Wy (I) 9t 99
(C) W TR-ynfagar Tomor () ST ®9 § S
(D) TER F 37elH (IV) Teka

Jr= fou o faedi § 9 Q& SR F =TI FIGC
(1) (A)-(D), (B)-(IL), (O)-(1V), (D)-(11)
(2) (A, (B)-(I1D), (C)-(), (D)-(IV)
(3)  (A)-(D, (B)-(1), (C)-(IL), (D)-(IV)
(4)  (A)-(I), (B)~(I), (C)-(IV), (D)-(IL)

Question Number : 21 Question Id : 5330722386 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘A’ takes twice as much time as ‘B’ to complete a work and ‘C’ does it in the same time as both ‘A’
and ‘B’ together do it. If all three of them work together and complete the work in 5 days, then the
time taken by ‘B’ to complete the work alone is :

(1) 12 days
(2) 14 days
(3) 15 days
(4) 18 days

Question Number : 21 Question Id : 5330722386 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fepeft =Te &1 90 T | ‘A7 1B’ H AT 99 ORTT € S C 59 I I Saq 994 H 90 o o € T
g A B 3 T frere 38 g e § 1 afe 9 o w fresm w e s feii d e an € A
=9 4 I TR T FA § B I TR wHg @i ?

1y 12f@=
(2) 14 fed
(3) 15 fea
(4) 18 f&m

Question Number : 22 Question Id : 5330722387 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

90 persons consume 810 kg of food in 27 days. In how many days will 60 persons consume 300 kg
of food ?

(1) 12 days
(2) 13 days
(3) 15 days
(4) 18 days
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Question Number : 22 Question Id : 5330722387 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

90 &I 810 Teredt it 27 feri ® Teu = €1 60 & forad foAl # 300 kg HISH &9 T ?
(1) 12fH F

(2 13fAid
(3) 15 fedi
(4) 18fcHi 7

Question Number : 23 Question Id : 5330722388 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following fraction in decreasing order :

12
A) 75
7
B 13
11
© 17
17
D) =5

Choose the correct answer from the options given below :
(1) @A), (B) (©), (D)
@ (©). A (D), (B)
(3)  (B), (O, (D), (A)
(4) (D) (A) (B), O

Question Number : 23 Question Id : 5330722388 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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et Tl 1 w28 5w 4 ot Y
12
A I
7
B =
11
€ =
17
1=

A fe o fased & | W& IW F T HC
(1) &), (B) (©), D)
(2 (©), (A) (D), (B)
(3)  (B), (©), (D), (A)
4) (D) (A) (B), ©)

Question Number : 24 Question Id : 5330722389 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the number that occurs in the series 2, 10, 30, 68, 130, ....... A
(A) 738

(B) 349
(C) 520
(D) 222

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (B), (O) and (D) Only
(3) (A), (C) and (D) Only
4) (A), (B) and (D) Only

Question Number : 24 Question Id : 5330722389 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 2, 10, 30, 68, 130, ........... H 37 9Tel 37! H1 Ted |

(A) 738
(B) 349
(C) 520
(D) 222

=1 feu T fomredl § § WeH Sugerd 3T T =TI HIN0

(1) eI (A), (B) 3R (O)
(2) = (B), (C) &R (D)
(3) = (A), (C) IR (D)
(4) A (A), (B) 3R (D)
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Question Number : 25 Question Id : 5330722390 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List- 1 List - I1
(Word) (Unique Code)
(A) PRIME (I 69
(B) SIGHT (Im 72
(C) QUITE (III) 63
(D) RHYME (V) el

Choose the correct answer from the options given below :
(1) (A)HD), (B}-(II), (O)-(Im), (D)-(IV)
2 A1), (B)-(1), (©)-1V), (D)-1)
(3)  (A)-(1LV), (B)-(IIL), (C)~(11), (D)-(I)
(4)  (A)(II), (B)-(IV), (O)-(I), (D)-(IT)

Question Number : 25 Question Id : 5330722390 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[t - 1 T e - 1 o1 foe i)
et - 1 et - 11

== (Word) ( fgera 2 )
(A) PRIME @ 69
(B) SIGHT a 72
(C) QUITE ) 63
(D) RHYME 1) 61

A feu o faepedi & | W@ I = HS
(1) (ARD), (B)(L), (C)(I), (D)-(IV)
2 (AHID, B)-111), (C)-V), (D))
(3)  (A)-IV), (B)-(), (O)-(1D), (D)-()
(4) (A, (BA(IV), (CHD), (D)-(ID)

Question Number : 26 Question Id : 5330722391 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What can be inferred from the following ?

“Because x=3 and y =5, then x+y=8§"

Itisa:

(1) Deductive argument based on elimination

(2) Deductive argument based on Mathematics
(3) Inductive argument from Authority
(4) Inductive argument from Principle of Charity

Question Number : 26 Question Id : 5330722391 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafaa & 1 STHHM @ S W € 7
“FGifH x=3 AR y=5T x+y=8"
TET

(1) =% faeme smenfa fFrmArTs o
(2) @8 iU seIid FeAmeHe a9 2|
(3) @& WIfHRRT & YT ANTHAH ek ¢ |
) eI o TaEia | W SARTHAHSE a9 © |

Question Number : 27 Question Id : 5330722392 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is NOT a common pattern of Deductive Reasoning ?
(1) Hypothetical Syllogism

(2) Categorical Syllogism

(3) Argument from Definition

(4) Predictive Argument

Question Number : 27 Question Id : 5330722392 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fefefaa & 4 Fm-a Frmares 9F & ame= ey (Yed) 79 € ?
(1) WTRRCTICHE =19 S

(2) freuier =m s

(3) O & 9T ah

(4)  wfoergEe 76

Question Number : 28 Question Id : 5330722393 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What among the following can be claimed of Deductive argument correctly ?
(A) I the premises are true, then the conclusion is pmbably true.

(B) If the premises are true, then the conclusion must be true.

(C) It is unlikely for the premises to be true and the conclusion false.

(D) The conclusion follows necessarily from the premises.

(E) It is impossible for all the premises to be true and the conclusion false.
Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (A)and (C) Only

(3) (B), (D) and (E) Only

(4) (A), (D) and (E) Only

Question Number : 28 Question Id : 5330722393 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frfafaa § & s o % 9N § ®FE 96 T/ € 2

(A) AfE MR o Fe & o TRy Hyed: Jed 2 |

(B) Afg YR arR Hed € of ferd 1oy 9 2 |

(C) YR areEl & T B4 T2 T9RY &1 19 S 91: 999 el Bial |
(D) Trepd srframd w9 § R 9t | srfoe S e

(E) |l SN Skl o1 Sl el a2 e 31 79 €1 STHYE 2 |
= feu mu forredi § § W& 3T A =TI FHY

(1) e (A), (B) 3 ()

(2) & (A) 3R (C)
(3) @d (B), (D) i (E)
(4) HEA (A), (D) 3R (E)

Question Number : 29 Question Id : 5330722394 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Concept) (Description)
(A) Statement (I) A statement in an argument that is intended to be proved or
supported by the premises
(B) Premise (II) A sentence that can be viewed as True or False
(€) Conclusion (ITlI) Group of statements intended to prove or support another
statement
(D)  Argument (IV) Reason why we should accept another statement or conclusion

Choose the correct answer from the options given below :
(1) (A)-(LD), (B)-(I), (C)-(L), (D)-(IV)
(2)  (A)-(1D), (B)-(IV), (O)-(I), (D)-(III)
(3)  (A)-IV), (B)-(I), (C)-(II), (D)-(I)
(4)  (A)-(1D), (B)-(III), (C)-(1V), (D)-(I)

Question Number : 29 Question Id : 5330722394 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e
Tt - 1 et - 11

( 3@ ) (Fuis)
(A) F @O T giaa o = Fy 59 esmur s g weifora = gafia e
ST S €
(B) NHRATH (1) T o o O o1 789 o ®9 1 <@ & Hehal € |
(C) Traewd (II1) =Fei =1 T9e fSHek g0 319 oA &1 Yo o1 gafda fean s
o ¥
(D) I (IV) &H S8 e a1 fepd o 1 Telieh Tl =N1feq, S9! I |

Fr= feu mu fasedi ¥ | W& T T 7 FHIGC
(1) (A, (B)-(D), (O)-(1), (D)-(IV)
(2 (A)-ID, (B)-(IV), (O)-), (D)-(1II)
(3)  (A)-V), (B)-(D), (O)-(IL), (D)~(11)
(4) (A1, (B)-(1D, (©)-1V), (D)1

Question Number : 30 Question Id : 5330722395 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Term/concept) (Description)
(A) Upanaya (I)  The knowledge of Paksadharmata as qualified by Vyapti
(B) Paramarsa (I) The invariable relation or association of the Middle term in the
minor term
(C) Vyapt (IlI) The application of the universal concomitance to the present
case
(D) Paksadharmata (IV) The invariable association of the middle term with the major
term

Choose the correct answer from the options given below :
(1) (A)-(ID), (B)-(T), (O)-II), (D)-(IV)
(2)  (A)-(II), (B)-(ID), (C)-(IV), (D)-(I)
(3)  (A)-(1V), (B)-(III), (O)-(I), (D)-(II)
(4) (A)-(L), (B)-(I), (C)-(IV), (D)-(II)

Question Number : 30 Question Id : 5330722395 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e
T - 1 et - 11

(U/ASEITTO) (=i )
(A) 3IF () =Aftd gRI ATeaa qarHd 1 I
(B) R (1) ¥ 95 3R 981 9g &1 FRuare gey s7erer 9eed
(C) = (1) TrEifoes geafdar & ada mme § sy
(D) TaerHa (IV) ¥4 9% 3R |9 98 1 fems wead

Jr= fou o faedi § 9 Q& SR F =TI FIGC
(1) (A)-(ID, (B)-(1), (O)-(11L), (D)-(1V)
(2)  (A)-(m), (B)-(ID), (C)-(1V), (D)-(D)
(3)  (A)-(LV), (B)~(IIL), (O)~(I), (D)-(IT)
(4)  (A)-(I), (B)~(I), (C)-(IV), (D)-(IL)

Question Number : 31 Question Id : 5330722396 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ChatGPT is an Al chatbot developed by OpenAl and was launched in November 2022. What
does ChatGPT stand for ?

(1) Chat Generative Pre-trained Transmission

(2) Chat General Pre-trained Technology

(3) Chat Generalized Pre-trained Technique

(4)

Chat Generative Pre-trained Transformer

Question Number : 31 Question Id : 5330722396 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e SHE. @A TaTE. 5 faewfaa uw 0w afs (T, Jeeie v SR 5 Tee 2022 § wafda fw
T 1| HE S, g AT e ?

(1) == SRfes dfi-gve gifaeH

(2) =T TS W-ZUE TS
(3) 2 SHeTgse W-2ue ZoFHh
(4) 2 SHifEa W TUe TEEER

Question Number : 32 Question Id : 5330722397 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Consider the following snapshot of MS-EXCEL worksheet :

A B B

1 90 70
Z 60 170
3 150 | 20
4 30 110
3 50 40
6 130 | 30
7

What will be the value of the cell C1 conl:ai_lﬁng the formula=SUMIF(A1:A6,">100",B1:B6) in the
above worksheet ?

(1) 90
() 390
(3) 50
(4) 420

Question Number : 32 Question Id : 5330722397 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

UH,UH, U 1 95 F e Sueiie g faamr #ifs .

A B &

1 90 70
2 60 170
3 150 | 20
4 30 110
5 50 40
6 130 | 30
o

IEF Frd 9T H FwE ClL H I =SUMIF(A1:A6,>100”,B1:B6) T L 9L | 1 €711 7

(1) 90
) 390
@) 50
(4) 420

Question Number : 33 Question Id : 5330722398 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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If (L)ys represents a number L in base - M number system, then identify the correct descending
order of the fU]lDwi_ng number A-D, when converted to base-10 number system.

(A) (9C)yq

(B) (233)

© (1),

(D) (10011110),

Choose the correct answer from the options given below :
(1) (©), (D) (B), (A)

(@) (D) (©)(A) (B)

(3) (B, (O) (A), (D)

4) D) Q). (B), (A)

Question Number : 33 Question Id : 5330722398 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

afg (L), o5 TH 3ok JUIel! H Sieh Tl i Sl 8, df 774 35 A-D =l s[9-10 37 Fomel H ®9ia i
T IR Hel STeiel A i Tedr FIfS ;

(A) (9C)
(B) (233)g
(©) (313);

(D) (10011110,

= feu T faehedi § & W@ ST =EE H
1) (©, (D) (B) (A)

2 ©O) (©) (A) (B)

3)  (B) (©) (A) (D)

@) (D) (©) (B) (A)

Question Number : 34 Question Id : 5330722399 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

What are the advantages of using Cloud Computing word processing software ?
(A) The user does not have to install word processing software on the computer.
(B) The user does not have to allocate space to install software in the hard disk.

(C) Storage space to save the document is provided by the cloud provider. The user can open or
edit the document from any computer which has Internet facility.

(D) If the user has slow Internet connection, then he/she would not face any problems accessing
or downloading his/her documents.

Choose the correct answer from the options given below :
(I) (A) and (B) Only

(2) (A)and (C) Only

(3) (B), (O) and (D) Only

(4) (A), (B) and (C) Only

Question Number : 34 Question Id : 5330722399 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FARE FT I TG TiRerR % WA F F1-31 &1 € ?

(A) W F FHE R g WAfET Sireaar yfaweifu 7 & e 2

(B) AR T WiwzeRR i 1 & fou e fewr-—H A seEfed 721 e g 2|

(C) v =i Gifem TaA B YR TN F8E Wer YoM Hdl €| e see gfan arer et oft
FU H Yor@l Sl @il SAYe Hurfed T Hehel 2|

(D) afe gEER 1 3202 FAFE i 2, 91 Y 199 Jordl a9 TR d SAYel 3¢ SR I H I g
&l 2 |

= feu U fomredi # & W& I A =TI FY

(1) e (A) 3R (B)

(2) = (A) 3R (C)
(3) = (B), (C) 3 (D)
(4) = (A), (B) IR (O)

Question Number : 35 Question Id : 5330722400 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I
(Initiatives in Higher Education) (Description)
(A) GIAN (I) Translation of research knowledge into viable
technology (products and processes)
(B) IMPRINT-2 (II)  Achieve three Cardinal principles of Education policy
namely, access, equity and quality
(C) DIGILOCKER (IIT) Tap the talent pool of scientists and entrepreneurs
internationally
(D) SWAYAM (IV) Issuance and verification of documents and

certificates in a digital way
Choose the correct answer from the options given below :
(1) (A, (B1), (O-(I), (D)-(IV)
@ (A, B)-0), (C)HIV), (D))
(B) (A, (BRI, (O-(11), (D)-(IV)
(4) (A, (B)D, (C-IV), (D))

Question Number : 35 Question Id : 5330722400 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e )
il - 1 T - 11

( == fomer o wget ) ( fererroT )
(A) A (Hemue.) () i S o1 oAderd Ureifiehl (3e 9 9fhand) # sfawm
(B) 3fFge-2 () Toen fifa & &9 qorga fosidi-s9rmy, e o qoEs =
T FAl
(©) fesfars (L) STAErg WX W AR 9 el & Tfas e & T@e
(D) =4 (WEFUIRTTH.) (V) fesfiea adF ¥ yordi 9 wHmosi sl St T 9 ST T
T

== feu o foshed ®§ 9 W& IR F =TI HIGC ;
(1) (A)-(IL), (B)-(I), (©)-(1), (D)-(IV)

2 (A1), B)-(1), (O~1V), (D)-(1)
(3)  (AHD), (By-(I), (O)-(I), (D)-(IV)
(4) (A, (B)-D), (O-(1V), (D)(I)

Question Number : 36 Question Id : 5330722401 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Based on the source of their food, organisms occupy a specific place in the food chain, known as :
(1) Trophic level

(2) Standing crop

(3) Top level organism

(4) Species level

Question Number : 36 Question Id : 5330722401 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T W % BT o AR W @ e # sial 5 ek fafere e g ® s e v F e @
(1) et =R

2 T
(3) Y wEE e
(4) Sftasid T

Question Number : 37 Question Id : 5330722402 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a primary air pollutant ?

1) COo
2) NO
(@) O,

4) SO,

Question Number : 37 Question Id : 5330722402 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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=1 § | 1 uF mufas 9m yguE T § 7
1) Co

(2) NO

(3) O3

4) SO,

Question Number : 38 Question Id : 5330722403 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following gases in ascending order of their global warming potential (GWD).
(A) CO,

(B) CH,
(C) SF,
(D) CFC-11
E) N,0

Choose the correct answer from the options given below :
(1) @A), (B) (O), (E), (D)
(2) (A). (B) (E), (D), (O)
(3)  (B), (©) (A), (E), (D)
(4) (A). (E) (B), (D), (O

Question Number : 38 Question Id : 5330722403 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et i <1 St afveer araa Suferar & sTiE sha § sgafierd Sifse :

(A) CO,
(B) CH,
(C) SF,
(D) CFC-11
(E) N,O

= feu mu fasedi ¥ | W& I T 7 FHIGC
(1) (A (B) (O, (B), (D)
(2 (A)(B) (B, (D). ©
(3) (B) (© (A), (E), (D)
@) (A), (B B), (D), ©

Question Number : 39 Question Id : 5330722404 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which among the followings are global scale Phenomenon ?
(A) Ozone layer depletion

(B) Global warming

(C) Forest Fire

(D) Sea level rise

(E)  Air pollution

Choose the correct answer from the options given below :
(I) (A), (C) and (D) Only

() (A), (B), (C) and (D) Only

(3) (B, (C) and (E) Only

(4) (A), (B) and (D) Only

Question Number : 39 Question Id : 5330722404 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

71 & @ BF-H YHead W H TREeA 2
(A) S 9 o

(B) dfYar A

(C) =&

(D) WIR TR H g

(E) =g HgH™

e feu T foreredl & 9 T S F = T
(1) Fd (A), (©) R (D)

(2) F=@ (A), (B), (O) 3 (D)
(3) @ (B), (C) #H (E)
(4) E (A), (B) ¥R (D)

Question Number : 40 Question Id : 5330722405 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I
(International Meetings) (Key objectives)
(A) Kyoto protocol (I) Global warming
(B) Montreal protocol (II) Biodiversity conservation
(C) Rio Summit (IIl) Ozone depletion
(D) Paris Agreement (IV) Solar Alliance

Choose the correct answer from the options given below :
(1) (A1), (B)-(II), (ORI, (D)-(IV)

2 (A1), (B)-1), (©)-@), (D)-1V)
() (A)-(), (B)-(D), (O-(IV), (D)-(IT)
() (AHIV), (B)(1D), (O)-(1), (D))
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Question Number : 40 Question Id : 5330722405 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl - 136 |19 gt - 1 e e )
et - 1 et - I

(feiedia e ) (7 R=¥a)
(A) IR YrEreTe () Sfs
(B) Wifzad dreieTa (1) Stafefawar e
() Treh forer Trer (L) SIS &for
(D) uftw wsiar (IV) HR 4y (Tems)

Jr= fou o faedi § 9 Q& SR F =TI FIGC
(1) (A)-(D), (B)-(III), (O)(IT), (D)-(IV)
(2) (A, (B)-(I1D), (C)-(1), (D)-(IV)
(3)  (A)-(II), (B)-(D). (O-(IV), (D)-(IT)
(4)  (A)-(1V), (B)~(II), (O)~(1), (D)-(11I)

Question Number : 41 Question Id : 5330722406 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the fn]lnwing open Universities according to their year of establishment in Chronological

order (Older - New) :

(A) Yashwant Rao Chavan Maharashtra Open University
(B) Karnataka State Open University

(C) U.P. Rajarshi Tandon Open University

(D) Kota Open University

(E) Madhya Pradesh Bhoj Open University

Choose the correct answer from the options given below :
1) (A (B), ©), (D) (E)

2) (D) (A) (B), (B) (O

(3)  B), (©) (E) (A), (D)

) D) (A), (B), (O), (E)

Question Number : 41 Question Id : 5330722406 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fafafes g favafaareal +1 TFT ®WNUA-99 F FAFAHEAR FAftgqd FISC
(90 | 74 & FH H):

(A) TS =ee Henre e fovafeemea

(B) AEH T T Tava Tammem

(C) 7. usifd Z=4 g favafaea

(D) =hler o favafeaerea

() WA Yeu1 9 waa favafaenmea

49 fau 7o fawredi ¥ ¥ WE S F 999 FIfAU ;

(1) (A), (B), (O), (D), (E)
(2 (D) (A) (E), (B) (C)
(3)  (B), (O) (E), (A), (D)
4 (D) (A), (B), (C) (B)

Question Number : 42 Question Id : 5330722407 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(MOOCs Quadrant) (Component)
(A) Quadrant I (I) e-Tutorial
(B) Quadrant II (I1)  e-Content
(C) Quadrant III (III) Web Resources
(D) Quadrant IV (IV) Self Assessment

Choose the correct answer from the options given below :
(1) (A)HD, (B}-(II), (O)-(II), (D)-(IV)
(2)  (A)(D), (B)-(IIL), (C)-(I), (D)-(IV)
(3) (A1), (B)-(V), (O)-(I), (D)~{IL)
(4)  (A)-(IV), (B)-(1), (C)-(IM), (D)-(I)

Question Number : 42 Question Id : 5330722407 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tl - 136 |19 gt - 1 e e
Tt - 1 et - 11

(YT =T ) (o2 )
(A) et () 3-Toemrl
(B) =t II () E-foawa-a%
(C) = Il (II1) =F O
(D) =AT IV (IV) =E-TediFa

Jr= fou o faedi § 9 Q& SR F =TI FIGC
(1) (A)-(D), (B)-(1L), (O)-(11L), (D)-(1V)
(2)  (A)-(D), (B)-(IIT), (C)-(I), (D)-(IV)
(3)  (A)-(1D, (B)-IV), (O)-(1), (D)-(IIL)
(4)  (A)-LV), (B)-(1), (C)-(LL), (D)-(11)

Question Number : 43 Question Id : 5330722408 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Where did nuns and monks meditate, debate and discuss with learned for their quest for knnwledge ?
(1) Monasteries

(2) Basadis
(3) Churches
(4) Ghatika

Question Number : 43 Question Id : 5330722408 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fuegforat wd fueg o1 I % e & ford el W eAmE, o fagri & e ae-dare vd faan-fans
FA 42

(1) foerd

(2) wHied |
(3) frReERi §
(4) wfesw H

Question Number : 44 Question Id : 5330722409 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 30/95



8/22/24, 11:52 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

Arrange the following themes of Sustainable Development Goals according to their goal number
n i_ncreasi_ng order.

(A) Gender Equality

(B) Zero Hunger

(C) Peace and Justice

(D) Climate Action

(E) Quality Education

Choose the correct answer from the options given below :
(1 ®B), (E) (A), (D), (O)

(2 (A). (B), (D), (O), (E)

3)  (©), (D) (A), (E), (B)

(4) (B), (A). (B), (D), (C)

Question Number : 44 Question Id : 5330722409 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ad fawm el & fefatag fawai (o) #1376 @80 9@ & 991 9ed 80 %0 ¥ oFafed
I
(A) Sfirr (Sfer) FuEE

(B) YEw{ o wHIfE
(C) wfd o =m
(D) SIAIH-FHAR
(E)  TUreTIeR e

e feu o fawedi § | WE I F =T FIfAT
(1)  (B), (E), (A), (D). (C)
(2)  (A), (B), (D), (O), (E)
(3) (©), (D), (A), (E), (B)
4) (B), (A), (E), (D), (O)

Question Number : 45 Question Id : 5330722410 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of following are the parts of AYUSH undergraduate education ?
(A) Siddha

(B) Sowa - Rigpa

(C) Yoga-Shastra

(D) Homoeopathy

(E) Sanjeevani

Choose the correct answer from the options given below :

() (A), (B) and (E) Only

(2) (B), (C) and (D) Only

(3) (A), (B) and (D) Only

4) (A), (©) and (E) Only

Question Number : 45 Question Id : 5330722410 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

frfefaa & | $F 319y (TR, 3,091, ) [&-Fas fas F 9 € ?
(A) faz

(B) Hraw-fm

(C) AT

(D) el

(E) wsfrat

= feu o fawredi W | WE I F =TI FIfSU

(1) e (A), (B) 31 (E)

(2) e (B), (C) ¥R (D)

(3) A (A), (B) 3R (D)

(4) A (A), (C) 3 (E)
Sub-Section Number : 3
Sub-Section Id : 53307299
Question Shuffling Allowed : No

Question Id : 5330722411 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage and answer the questions.

After being constituted into a separate State, Jharkhand has been consistently making progress
in all fields including culture. Its efforts to create awareness among the people about the State’s
built heritage by organising archaeological workshops have been particularly helpful. There are
also initiatives taken to organise State level festivals to promote the arts and crafts of the local
people. With its natural endowments also the State has become a favourite destination for visitors
from all over the country and abroad. Places like Baba Baidya_nath Temple, Suraj Kund, Maithon
Dam, Noori Masjid are some such places which witness large number of visitors. The State
Government is particularly committed to enrich the bamboo and wood crafts of the State along
with tribal paintings and the stone carving activities. In the field of education, Ranchi, once
considered to be a hub of quality education, is regaining its reputation. In the field of sports too the
State has earned national recognition- This is specia]_ly so in the case of games like hockey, archery
and cricket at both the national and the international levels.

Sub questions

Question Number : 46 Question Id : 5330722412 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The organisation of archeological workshops has helped to create awareness about :
(1) Arts and Crafts

(2)  Built heritage

(3) Bamboo and woodcraft

(4) Games and sports

Question Number : 47 Question Id : 5330722413 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Jharkhand has become a favourite destination for visitors from India and abroad because of its :
(I) Stone carving activities

)  Mineral wealth
(3) Natural attractions

) Central location

Question Number : 48 Question Id : 5330722414 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following activities is NOT included with state government initiative for enrichment

?

(1) Bamboo and woodcraft
(2) Tribal painting

(3) Stone carving

(4) Rock Painting

Question Number : 49 Question Id : 5330722415 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which combination of sports has [harkhand gained national and international recognition ?

(1) Cricket, archery and hockey
(2) Cricket, archery and shooting
(3) Croquet, Cricket and archery
(4) Cricket, football and hockey

Question Number : 50 Question Id : 5330722416 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which city was once considered the hub of education in Jharkhand ?

(1) Deoghar

(2) Ranchi
(3) Jamshedpur
(4) Koderma

Question Id : 5330722411 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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e Trenier Rt ufeu 3iiv 39k @1g U9 T Uyl o I i

T Yok U9 | GHfed g o qvEd, FEve ekl afed gl &9 # gad wfa s @ B 1 O i A
YRIEY o HaY H YUdcid FEYTesl o SATArs gRI U4 i Sidl o aild STReehdl 3099 & o 39 JamH fergrg
¥ Y TeEF gUE |

T SHAT 1 Fenedi @R g & Hada ¥ fau 759 wig soae safed 3 & fau uea of =5 2 §)
9T wTepfaes stera fafa & off 5 T S oin foewll & wdeei % fou v fig vided wa a9 T | S S
ey, Grewhe, HeF Jiy, 0 ufee T8 Fo ToF € el 9 g ¥ gdes o € | 159 TR o7fen fag e ol
Torem el & WY-WY a9 9 H1S ew = 99g A oY fav w9 8 genag €1 e & & § v awa |-
T[oTEr o1 ForeT =R o WA ST STel YT UE U 9 YA: 391 Giaeet A T E | Wordhs o &5 H o T
J T T ure S U a9y o e, et o forthe S wel % ume H U 9 Sfaiig T W e
|

Sub questions

Question Number : 46 Question Id : 5330722412 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R ErEeensl & o |3 e 8§ frges gey 1 sireshar 30 A § Wer # § 2

(1) e = forey

(2) fafa =ee

(3) G T HISH
)

WA o WAFS

Question Number : 47 Question Id : 5330722413 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= o I forgs R EvE aRa @R fessh | ydes! o fou v g e Toe 59 T 2
(1) Tomer-aerreh framrem

(4

(2) @S HEl
(3) TERfde AR
(4) FHEMA sEfeafa

Question Number : 48 Question Id : 5330722414 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et & & 7 @1 o e dada ¥9 50 9 #1 ved § aftafed @ 2

(1) =9 9 Frefeeg
(2) enfew fesere
(3) o emmft

(4) T fesmERen

Question Number : 49 Question Id : 5330722415 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gorEs o 1 0 § o waem o e 3 U 9 A o e #5802

(1) TreRe, drigrst 9 gt
(2) foreRe, diEmST 9 gfen
(3) e, fFwe T Trem
(4) TFFe, Fea= e

Question Number : 50 Question Id : 5330722416 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

grEve B 1 T § 19 |1 96 U THE I el 1 S 5 S o ?

0
2)
3) SRR
4)

(

e

Indian Culture

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 51 Question Id : 5330722417 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

From which of the following places, tools made of bones have been found ?

(1) Chopanimando

(2) Kakoriya
(3) Mahdaha
(4) Sarainaharrai

Question Number : 51 Question Id : 5330722417 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

freferfaa o § fore T 9 g8l o ST 9T gU € 7
(1) =S

(2) TR

(3) HeSE

(4) HIEARWEE
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Question Number : 52 Question Id : 5330722418 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who is regarded as ‘Demon of drought’ in Vedic hymns (richas) ?

(1) Vritra

(2) Diti

(3) Hiranyakashyap
(4) Vrisha

Question Number : 52 Question Id : 5330722418 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ifeer Tt ® ' st =1 2 Y w S 2 2

(H 9=

(2 fefa

(3) feua ey
4) ¥

Question Number : 53 Question Id : 5330722419 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the fDllDwi_ng Vedas mentions that ‘search of awareness, search of answers and journey
of self - realization never ends’ ?

(I) Rigveda

2)  Yajurveda

3) Atharvaveda
4) Samveda

— p— p—

Question Number : 53 Question Id : 5330722419 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafafes § & fea ag o ot & f s 1 Gie, S0 o1 G927 STersis &1 31T 3 el gar
el 2 ?

(1) wag

2) TR

(3) @erEeR

(4) EHER

Question Number : 54 Question Id : 5330722420 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The inscription found from Bogazkoi of Middle East around 1400 B.C has the description of following
Gods :

(1) Mitra, Varun, Agni, Nasatya

(2) Mitra, Surya, Indra, Nasa tya

(3) Mitra, Vrihaspati, Indra, Garud

(4) Mitra, Varun, Indra, Nasatya

Question Number : 54 Question Id : 5330722420 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

1400 £Y, F T WA QAT F ST ¥ e syfveng # fRA Sommet w1 foerm e g ® 2
(1) o3, =0, 3, F5

(2) o= 94, o=,
(3) o=, 9ewfd, 5=, e
(4) o=, =%, 3=, A9

Question Number : 55 Question Id : 5330722421 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The conversation between Nachiketa and Yama finds place in which of the following
Upanishad ?

(1) Ishopanishad

(2) Kenopanishad

(3) Kathopanishad

(4) Vrihadaranyak Upanishad

Question Number : 55 Question Id : 5330722421 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Aferkar 2R a0 garg forg Sufag | e S € 2
(1) Zeirafug

(2) Mg
(3) wSraug
(4) FEERWHF IS

Question Number : 56 Question Id : 5330722422 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“During long journeys not only looters were the main danger, the traveller could have home sickness
and might fall ill”. The above quotation is related to :

(1) Rihla

(2) Kitab-ul-Hind

(3) Razmnama
)

(4) Sirr-a-Akbar

Question Number : 56 Question Id : 5330722422 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el Al H et € TR WA el 9 A R B Wehdl o1 S SR B Hehl A11” 3P I5IW
Hafed € :

(1) Feen

(2) fraE-sa-fe=
(3) TSHAHI

(4) TE-T-sreeT
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Question Number : 57 Question Id : 5330722423 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who is regarded as the last ‘Sautrantik Acharya’ in Bodh tradition ?
(1) Vasumitra

(2) Dhammakirti
(3) Shubhgupta
(4) Dingnag

Question Number : 57 Question Id : 5330722423 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[ rie = I 1t M= o e e e o e | A
(1) =g

(2) uEEIfd
() INTE
(4) fezTm

Question Number : 58 Question Id : 5330722424 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Hindus were of the opinion that the world was of oval shape which was called ‘Brahamand’.
(universe). In how many zones the ‘Brahamand’ was divided in which our earth was seventh
from above ?

1) 20
@ 21
@) 22
@) 23

Question Number : 58 Question Id : 5330722424 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fegatl =1 umoom oft for favar soemrR o1 f5i@ srerve =@ T | senve T & o favifsa o foms emm
gesl L H Hiel off |

1 20
2 21
@) 22
@) 23

Question Number : 59 Question Id : 5330722425 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How many total days are there in twelve lunar months ?

(1) 353
() 354
(3) 355
4) 356

Question Number : 59 Question Id : 5330722425 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e % T H e o fo S E 2
(1) 353
(2) 354

——
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Question Number : 60 Question Id : 5330722426 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which inscription describes Gupta king Kumargupta as the ‘Sun of Autumn season’ ?
(1) Gadhwa edict

@)
(3) Mankuwar Inscription
(4) Vilsad Inscription

Tumain Inscription

Question Number : 60 Question Id : 5330722426 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

form stfier o 7@ YTIE FHTS FI IRS-H1ef= gd T oifq sarn T g2

(1) e T

(2 T sfuea
(3) WG HivewE
(4) Toome sifvera

Question Number : 61 Question Id : 5330722427 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who has composed the text ‘Namlinganushashanam’ ?
(1) Vilhan

) Amar Singh
(3) Kalhan

) Patanjali

Question Number : 61 Question Id : 5330722427 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

CmfereraE | Rt #ia €2
(1) facem

(2) o fHE

(3) Hesdl

(4) et

Question Number : 62 Question Id : 5330722428 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The financial year of Mauryan Rule started from which month ?
(1) Chaitra

(2) Kartik
(3) Ashadha
(4) Vaishakh

Question Number : 62 Question Id : 5330722428 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hrd A o1 ot 94 fofg oe § gRy 2 o1 ?

(1) =&
(2) FIde
(3) o
(4) <S9TE

Question Number : 63 Question Id : 5330722429 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not included in eight volumes of ‘Charak Samhita” ?
(1) Dysentery (Pechish)

(2) Treatment (Chikitsa)

(3) Viman (Dosh)

(4) Diagnosis (Nidan)

Question Number : 63 Question Id : 5330722429 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e Hfed o 318 @l H A 91 giwfeg 43 82

(1) ufa
(2) fafFa
(@) femm
(4) Fem

Question Number : 64 Question Id : 5330722430 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Yaksha sculpture found from Parkham (Patkham) is made of :
(1) Red sand stone

)  White sand stone
(3) Black sand stone

) Pink sand stone

Question Number : 64 Question Id : 5330722430 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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yeEy (EH) § yre g yfam fAfda §
(1) e SeeT Teer

(2) HHE T TR
(3) oI T T
(4) TS ST TR

Question Number : 65 Question Id : 5330722431 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following had stated that “the key of my self-realisation was the question - who
am [ ? Wheather [ am a body, mind, senses” ?

(1) Raman Maharshi
2

(3) Narayan Guru

(4) Mahatma Ayankali

Shri Aurvindo

Question Number : 65 Question Id : 5330722431 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafea # 4 forgs Fe1 o 6 37 erer sty =61 ol Fe U o - '8 & § 2 -0 # R, i €,
EERIR

(1) T mefd

() it srfa=i

(3) FE e

(4) HETH T

Question Number : 66 Question Id : 5330722432 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange in chronological order starting from earlier the steps taken (measures adopted) by Mauryan
King Ashoka for propagation of Dhamma.

(A) Nigliva journey (Travelling to Nigliva)

(B) Lumbini journey (Travelling to Lumbini)

(C) Bodhgaya journey (Travelling to Bodhgaya)

(D) Inscribing Dhamma lipis

(E) Appointment of Dhamma Mahamatras

Choose the correct answer from the options given below :
(1)  (©) (B) (A), (D), (B)

2 (©), (E) (A), (B). (D)

(3) (E) (O (B), (A), (D)

(4) (A), (B), (O, (D) (E)

Question Number : 66 Question Id : 5330722432 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Hrd Sk 379 BT 97 o garel Aifadl (3UrE) 9 9 E | gerarie i |
(A) Tvetien amn

(B) gt =mn

(C) ST 9=

(D) wFHfafadl s GEaml

(E) “mHemmEi i gl

e feu o faeredi O 9 QE I 1 F71 FIfSU

(1) (©), (E) (A), (D). (B)

(2 (©), (E) (A), (B), (D

) )
@) (E), (©) (B), (A), (D)
@) (&), (B), (). D) (E)

Question Number : 67 Question Id : 5330722433 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

From which of the following places Ashokan Pillar inscriptions have been found ?
(A) Topra

(B) Meerut

(C) Lumbini

(D) Prayag

(E) Louriya Areraj

Choose the correct answer from the options given below :
(1) (A), (B), (D), ©)

@ (A), ©), (D) ©)

@) B, (©) (D), (B)

(4)  (A), B), (), (D)

Question Number : 67 Question Id : 5330722433 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST9ireRTa Ty o T 2ol @ w21 €2
(A) A

(B) B

(©) dfrrft

(D) vAm

(E) o sras

1 feu T faehedi & 3 WEl 3T 999 HIAC
(1) (A), (B), (D), (E)

2 @A), ©), (D) E)

3)  (B). (O (D). (E)

4) (A), (B), (C) (D)
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Question Number : 68 Question Id : 5330722434 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which were the famous ports durjng the reign of Pandya rulers in Sangan Age ?

(A) Karora
(B) Korkai
(C) Shaliyur
(D) Mushiri

(E) Marungar

Choose the correct answer from the options given below :
(1) (A), (B)

(2) (D), (E)

(3) (B), (D)

(4) (B), (C)

Question Number : 68 Question Id : 5330722434 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST 0 H UvEd IS % WHT F 9fEE a0TE B 9 ?

(A)

(B) T

(E) W&

o=t fou o faskedi # 9 a3 1 997 FHife
(1) (A, (B)

(2) (D). (E)

(3) (B), (D)

4) (B), (©)

Question Number : 69 Question Id : 5330722435 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the correct chronological order of the construction of following Architectures ?
(A) Tomb of Humayun

(B) Tomb of Adham Khan

(C) Jamali Masjid (Mosque)

(D) Buland Darwaja

(E) Mot Masjid (Mosque)

Choose the correct answer from the options given below :
(1) (©), (A), (B), (D), (E)

(2 (A), (B), (C), (D), (E)

@) (©), (B), (A), (D), (E)

4) (B), (A), (O, (D), (E)
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Question Number : 69 Question Id : 5330722435 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= zemaer © fAoior <1 TET FH FE T ?
(A) THH 1 Heha{
(B) S1¥M @l 1 HFal

(C) el wiEsk
(D) el SETS
(E) Hidt HfEs

T feu 7o fasredi & € Qf 3 &1 999 Hifeu
(1) (S, (A), (B), (D), (E)

() (A) (B), (©), (D), (E)
(@) (©), (B), (A), (D), (E)
@) (B), (A) (©Q), (D), E)

Question Number : 70 Question Id : 5330722436 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the correct Chrnnological order of commentators of Manusmrit ?

(A) Bharuchi

(B) Meghatithi

(C) Govindraj

(D) Kulluk Bhatt

Choose the correct answer from the options given below :
(1) (A), ) (B), ©

@ (A), ®), (D), ©

(3) (A), ©), (D) B

(4) (A), (B), (C) (D)

Question Number : 70 Question Id : 5330722436 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gefa % T SRR 6 GE HH T 7
(A) WP

(B) At

(C) Tiferarst

(D) Foow HEL

= feu 7o fasedi # 9 @t W & 99 Y
(1) @A), D) (B), (©)

2 (A) (B). (D), ©

)
@) (&) (©), (D) (B)
@) (A (B), (Q), (D)

Question Number : 71 Question Id : 5330722437 Question Type : MCQ Option Shuffling : No
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Arrange the fDllDwing persons n ascendj_ng order acv:urding to their birth

(A)

(B

)

(©)
(D)

(E)

Mukund Ram

Guru Nanakdev
Chaitanya Mahaprabhu
Ramananda

Namdev

Choose the correct answer from the Dptiuns given below :

(1)

(2

(4

)
()
)

(A), (B), (©), (D), (B)
(B), (©) (D). (E), (A)
(E), (D), (

(D), (B), (C), (A), (E)

B), (©), (A)

Question Number : 71 Question Id : 5330722437 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freferfiaa =afai =1 37 =0 % STTER A 0 H afeed Hifs

(A) HP<-IH

(B) TE TR

(C) == Hery

(D) THFA=<

(E) e

fo= few o feepedi & | & I A = e
(1) (A), (B), (O), (D), (E)

(2)  (B), (©), (D), (E), (A)

3) (B, (D), (B), (C), (A)

4) (D), (B), (O), (A), (E)

Question Number : 72 Question Id : 5330722438 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements about Nalanda University is/are true ?

(A)

(B)

(©)

(D)

Choose the most appropriate answer from the options given below :

(1
(2
(3
(4

)

)
)
)

(A) only

(B), (C), (D) only
(A), (©), (D) only
(&), (B), (©), (D)

Mahavir Swami resided for 14 years in Nalanda University.
Minimum age of students for admission in Nalanda University was eight years.

In the periDd of H_iuen-t-sang, five hundred and ten Acharyas - Pracharya were appoi_nted
for teaching,

Library of Nalanda University was known as ‘Dharmagaja’

Question Number : 72 Question Id : 5330722438 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafea & | e favafazmea & R § 3 91 w99 & €7

(A) et fagaferarem™ § Herei TrHl F 14 991 aoh e foha |

(B) el favaferamer | arerenl & Jarenel =gAqH 311e a4 i o119 Ml o

(C) TTEI &F 9= & TWd Ao favafaeed # TF g5 99 9t 99 SraE-vrEd oerd e F fau
RREIEN

(D) reral favafaene™ & Jeaehierd 1 YHITS (YHITS ) o AH | ST el o1

f= feu T fomredl o | Ger@ SR I H =T A

(1) e (A)

(2) = (B), (C), (D)

(3) = (A), (), (D)

(4) (A) (B), (Q), (D)

Question Number : 73 Question Id : 5330722439 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are correct about Rajtarangini ?

(A) Rajtarangini is divided into nine Sarga (parts).

(B) Kalhan's father name was Champak.

(C) Chandapida was a cruel ruler.

(D) In Rajtarangini, intercaste marriages are mentioned.

(E) Women in Rajatarangini were not aware about Parda System.
Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2)  (A), (B) and (C) only

(3) (B), (D) and (E) only

(4) (A), (D) and (E) only

Question Number : 73 Question Id : 5330722439 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafaa TRl & o # 0 98 22

(A)  TrTeRTTOR =1 @il 7 foere €

(B) wrewvl o TOel = A1 =9k o1 |

(C) =erdie T A=l U o1 |

(D) TSTRFTON § stwierrdra foamel 1 e #

(E) TsTerfoft # sfvia frai over gen | s1aa =& of |
= feu T forpedl # & @erd I0ga ST 1 T4 e
(1) e (A) 3R (B)

(2) *=E (A), (B) FR (O)
(3) =€ (B), (D) ¥R (E)
(4) FEA (A), (D) 3R (E)
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Question Number : 74 Question Id : 5330722440 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The main characteristics of technic and construction of temples during Gupta period are :

(A) Gupta age temples are open with garbhgriha.

(B) The idols of Ganga and Yamuna were placed as Dwarpala in the temples of this period.
(C) Viman (top) of the temples of Gupta age were in shape of pyramid.

(D) ‘Gopuram’ has been the salient feature of the temples in this period.

Choose the most appropriate answer from the options given below :

(1) (A), (C) only

() (A), (D) only

(3) (A), (B) only

(4) (O), (D) only

Question Number : 74 Question Id : 5330722440 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR el § qeheRt @i i wredt v fadread €

(A) TERTE Al ST URY TeTE % 91 g g

(B) TH T % WiGU W gRUel & T T T A3 1 UfamTd o1 Bt off |

(C) ke Higd # foufe & emr =1 3 (fomm) faea

(D) Tk Hied H iy # faum v we fade F 'y H fomert gedt €
=1 fau T faekedl # & Wad I0gerd I I F97 HI19C

(1) = (A), Q)

2 FFA (A), (D)
(3) EA (A), (B)
4) =4 (), (D)

Question Number : 75 Question Id : 5330722441 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is associated with Mohanjodaro ?
(A) Mound of dead

(B) Water tank in the middle of open campus

(C) School of priests

(D) Colourful bangles

(E) Marshal has mentioned the big bathroom (Snanagar) of Mohanjodaro as the wonderful
construction of the contemporary world.

Choose the correct answer from the options given below :
(1) (A), (B), (C) only

(2)  (A), (B), (C), (D) only
(3)  (A), (E), only

4) (A), (B), (C), (E) only
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Question Number : 75 Question Id : 5330722441 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafad § § #1 TeTuee 9 996 © ?

(A) TR T e

(B) = Gel MY F &9 5l FUE

(C) gifed =1 forzmem

(D) T =fea

() WNe A gETSeS % FeEAHIR i dekrei favd o U vt i s E
a1 fau u forekedi # 9 TE&t 3T & F94 AT

(1) e (A), (B), (C)
(2) = (A), (B), (O), (D)
(3) e (A), ()

(4) A (A), (B), (O), (B)

Question Number : 76 Question Id : 5330722442 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The text ‘Leelavati’ of poet Palit (dependent poet of Hala) mentions the association of Nagarjuna
with whom of the following ?

(A) Pottis

(B) Kumaril

(C) Charak

(D) Shushrut

Choose the correct answer from the options given below :
(1) (A)only

() (A), (B) only

(3) (C) only

(4) (A), (B), (©) (D)
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Question Number : 76 Question Id : 5330722442 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ohia qifcrd (81 & S9d &) o THA efemad H AR 1 3ooid ek |1e W 2l € 7
(A) Tfezd

=,

(B) FHIE

(C) =

(D) |4

= feu o fosredi & | @& I &1 =74 FfaC -
(1) Fad (A)

(2) A (A), (B)

(3) FFA (C)

(4) (A), (B), (C), (D)

Question Number : 77 Question Id : 5330722443 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The parts of “Hitopadesh” written by Narayan are :

(A) Mitralabh

(B) Vigraha

(C) Sandhi

(D) Samas

Choose the correct answer from the options given below :
(1) (C), (D) only

() (A), (B) only

(3) (B, (C)only

(4)  (A), (B), (C) only

Question Number : 77 Question Id : 5330722443 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IR g e fedmey F 9 €

(A) oy

®) fome

(C) af

(D) ==

=1 fau o fawredi 9 WEr ST & 999 FIf90
(1) =4 (), (D)

(2) A (A), (B)

(3) e (B), (O)

(4) = (A), (B), (C)

Question Number : 78 Question Id : 5330722444 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Which of the following is Mahayana Literature ?
(A) Lalitvistar

(B) Suvarnaprabhas

(C) Gandvyuha

(D) Samadhiraj

(E) Sadharmapundarik

Choose the correct answer from the options given below :
(1) (A), (B) only

() (8), (), (D) only

(3) @A) (B), ©), D) (E)

4) (A). (B), (©), (E) only

Question Number : 78 Question Id : 5330722444 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freferfea o § 9 TeEE Tfee &7
(A) ferafersr

(B) gy

(C) TR

(D) FHIERS

(E) WaHYUsl®

1= feu 7o faredi § 9 W& 3 1 9949 Fif9u :
(1) e (A), (B)

(2) = (B), (C), (D)

(3)  (A), (B), (©), (D), (B)

(4) A (A), (B), (O), (E)

Question Number : 79 Question Id : 5330722445 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I
(Religions Teacher (Preacher)) (Resident)
(A) Shri Chaitanya (I) Haryana
(B) Shaikh Abdul Kuddas ‘Gangohi’ (I) Bengal
(C) Meerabai (II) Uttar Pradesh
(D) Shaikh Ahmed Sarhindi (IV) Rajasthan

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(D), (O-(I), (D)-(IV)

@ (A)-(IV), (B)-(11), (O)-(I), (D)-(@)
(3)  (A)-(I), (B)-(D), (C}(I1), (D)-(IV)
@) (A1), (B)-(1), (©)-1V), (D)-(1)
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Question Number : 79 Question Id : 5330722445 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl - 19 =t - 11 =1 Ty wifs
et -1 T - 11

( arfifen freren ) ( Frart )
(A) i = () =
(B) 9 Y5l Fed TRl () sme
(©) i (I) SR FeW
(D) 9@ 378HE Hifeel (IV) T

= feu 7o fawredi o 9 WE I 1 T2 FIfSC
(1)  (A)(D), (B)-(II), (C)-(IID), (D)-(IV)
(2)  (AHAIV), (B)~(1D), (O)-(LD), (D)-(I)
(3)  (A)-(m), (B)-(I), (O-(1), (D)-(IV)
4)  (A)-(D), (B)-(1D), (C)-(IV), (D)-(I)

Question Number : 80 Question Id : 5330722446 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I

(Court Poet) (Patron Kings)
(A) Hemchandra (I) Hall
(B) Padmagupta (I)  Yashoverma
(€) Gunadhya (IlT) Jay Singh
(D) Bhavbhut (IV) Munj

Choose the correct answer from the options given below :
(1) (A)-(), (B)-(ID), (O)-(1V), (D)-(I)
(2) (A, (B)-(IV), (O)-(D), (D)-(IN)
(3) (A1), (B)-(IV), (O)-(I), (D))
(4)  (A)-(IV), (B)-(1ID), (C)~(1I), (D)-(I)

Question Number : 80 Question Id : 5330722446 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 19 =it - 11 =1 Ty #ifs

Tt - 1 T - 11
( 3nTfara @ fa) ( 3= <)
O T (O T
(B) TRHTS (I =
(C) T[OTEA (1) sHEfds
(D) wEyfa (Iv) 9

= fou 7o faeredl § § W& 3T & 95949 FIfAC ;
(1)  (A)-(1m), (B)-(ID), (O)-(IV), (D)-(I)
(2) (A, (B)~(IV), (C)~(D), (D)-(IT)
(3)  (A)-(1D, (B)-(IV), (O)-(1), (D)-(11L)
(4)  (A)-(1V), (B)-(1L), (C)(11), (D)-(L)

Question Number : 81 Question Id : 5330722447 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Poets) (Composition)
(A) Gunadhya (I) Avantisundari Katha
(B) Dandi (II) Avibharak
(C) Bhas (IIT) Brihatkatha
(D) Magh (IV) Shishupal Vadh

Choose the correct answer from the options given below :
(1) (A)-(II), (B)-(ID), (C)-1), (D)-(IV)
(2 (A)-IV), (B)-(1I), (O)-(I1I), (D)-(I)
(3)  (A)-(ID), (B)-(L), (C)-(L), (D)-(IV)
(4)  (A)-(ID), (B)-(IV), (O)-(I), (D)-(II)

Question Number : 81 Question Id : 5330722447 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 19 =it - 11 =1 Ty #ifs

Tt - 1 Tt - 11
(=fa) (T )
(A) oA O  sEfagd w0
(B) <U=T (i  sifavnE
(C) wH™ (III) SEehe
(D) ®= (IV) TergqarerEy

= fou 7o faeredl § § W& 3T & 95949 FIfAC ;
(1)  (A)-(1m), (B)-(ID), (O)-(I), (D)-(IV)
(2)  (A)AIV), (B)~(ID), (O)~(ILD), (D)-(I)
(3)  (A)-(), (B)-(I), (©)-(11), (D)-(IV)
(4)  (A)-(1I), (B)-(IV), (O)(1), (D)-(IT)

Question Number : 82 Question Id : 5330722448 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II

(Event) (Year)
(A) Crisis of Economic recession () 1921
(B) Price of agriculture produce fell down 50% (I) 1927
(C) Establishment of All India States Peoples Congress (III) 1929
(D) Establishment of Chamber of Princess (IV) 1932

Choose the correct answer from the options given below :

(1) (@A), (B)11), (©)-(0), (D)-(1V)

(2)  (A)Im), (B)-D), (O-(I), (D)-(1V)
() (A)-(IV), (B)(1I), (O)-(ILD), (D)-(1)
(4)  (A)I), (B)-(1V), (O)-(1D), (D)-()

Question Number : 82 Question Id : 5330722448 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 19 =it - 11 =1 Ty #ifs

Tt - 1 et - 10

(=) (=)
(A) afeieR A AR (I 1921
(B) Wftex Ygm@m 1 wiwd 50 gfava | sifuer fdt an 1927
(C) @il Efemn w2d Wigew iy = L (1) 1929
(D) =& S YES & T (IV) 1932

= fou 7o faeredl § § W& 3T & 95949 FIfAC ;
(1)  (A)-(1m), (B)-(ID), (O)-(1), (D)-(IV)
(2) (A, (B)~(I), (C)-(1D), (D)-(IV)
(3)  (A)-(IV), (B)~(1D), (O)-(I1L), (D)-(I)
(4)  (A)-(II), (B)-(IV), (O)(11), (D)-(I)

Question Number : 83 Question Id : 5330722449 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I
(Traveller) (Resident Place)
(A) Albaruni (I)  Tainjier
(B) Ibn batuta (II)  Travarnier
(€) Jyon-Baptist (IIT) Persia
(D) Abdurrajjak (IV) Khwarism

Choose the correct answer from the options given below :
(1) (A)HIV), (B)-(D), (C)-(I1), (D)~(IM)
(2 (A)-IV), (B)-(1D), (O)-(I1I), (D)-(I)
(3)  (A)-(IV), (B)-(IIL), (C)-(1D), (D)-(I)
(4)  (A)-(ID), (B)-(IV), (O)-(1I), (D)-(I)

Question Number : 83 Question Id : 5330722449 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 19 =it - 11 =1 Ty #ifs
-1 T - 11

(amt) ( Frarst)
(A) ITA-FTEA ( s
(B) =1 Il () e
(C) “Hi-dfew (IIl) HRE
(D) Tegises (IV) Enfisy

= fou 7o faeredl § § W& 3T & 95949 FIfAC ;
(1) (A)-(1V), (B)~(I), (C)-(IT), (D)-(III)
(2)  (A)AIV), (B)~(1D), (O)-(ILL), (D)-(I)
(3)  (A)-(IV), (B)-(ILI), (O)(1L), (D)-(I)
(4)  (A)-(II), (B)-(IV), (O)(11), (D)-(I)

Question Number : 84 Question Id : 5330722450 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following proudly declared during his speech “[ challange the world to find out a
single sentence in the entire system of Sanskrit philosophy that only Hindus will have salvation
and not others” ?

(1) Vinayak Damodar Savarkar
2) Manvendra Nath Roy

3) Shivaswami Ayyar

4) Swami Vivekanand

— — p—

Question Number : 84 Question Id : 5330722450 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefaa & | T a1 =ameam § 92 7d 9 s & off - ¢ F fava &1 e <o § 6 e <ui
T e § w off UE a9 g W fawn e fod fegati o sar @, o
(1) TomF SR e

(2) WHEETY 4
(3) ToErEEm s
(4) @ fagErs

Question Number : 85 Question Id : 5330722451 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Natmandir’ and ‘Bhogmandir’ were added to which temple later on ?

(1) Lingraj (1000 A.D)

(2) Mukteshwar (975 A.D)

(3) Jagannath (1100 A.D)
)

4 Parasurameshwar (7th-8t Centur
Y

Question Number : 85 Question Id : 5330722451 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tenf<y &R i<t forg o1 ofet & = & Sie e 92
(1) fAmE (1000 3.)

(2) HETEH (975 3.)
(3) ST (1100 %)
(4) ORISR (7 -8 o IrTear)

Question Number : 86 Question Id : 5330722452 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a work of Sub-altern study ?

(1) Agriculture workers in Vardhawan

(2) Forestry and social protests in British Kumayun

(3) Four rebels of 1857

(4) Interpreting Indian History

Question Number : 86 Question Id : 5330722452 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

feferfaa & & =i st arTad =1 Fia 78 82
(1) TiFeR T 37 95aH

(2) TRIET UUE Hivia e B9 fafew e
(3) R feiew sE 1857
(4) geufén sfema o=

Question Number : 87 Question Id : 5330722453 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following on being defined as Hindu declared - “I am Hindu, [ am Muslim, I am
Christian, [ am Persian, [ am Zew"” ?

(1) Shri Aurbindo

@)
(3) Narayan Guru

(4) Mohan Das Karamchand Gandhi

Swami Vivekanand

Question Number : 87 Question Id : 5330722453 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frferfiaa # & fFras s ar uF fog & w9 ¥ uftenfua ford S o dioon =5 off - 4 fog €, goemE €

(1) =i arfa=i
(2) T@r faeEr<
(3) TR

(4) TTES FHTHES T

Question Number : 88 Question Id : 5330722454 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The supporter of principle (doctrine) of Dualism in social change is :
(1) D.P. Mukherjee

) Shyama Charan Dubey
(3) Maxim Mariat

) D.P. Tripathi

Question Number : 88 Question Id : 5330722454 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

grTfeTeR ufted ® ' gears fagia F wme €
(1) 9. gEst

(2) v =0 g
(3) HfFmw #ftge
(4) E. Frmst

Question Number : 89 Question Id : 5330722455 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following Pallava King encouraged temple construction art without using bricks,
woods, metals or mud mortar (slurry) ?

(1) Narsingh Verman First

(2) Mahendra Verman First
(3) Mahendra Verman Second
(4) Narsingh Verman Second

Question Number : 89 Question Id : 5330722455 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafaa o 9 fog uoora o 3 20, @fedl, ugsil @1 T % vam % o afey fmin @ sgen
fean -

(1) e aHd gam

(2) WEEAHA UYH

3)  Hemand fadig

(4) “RiHe 7v7 fada

——

Question Number : 90 Question Id : 5330722456 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Acharya Hemchandra is associated with :
(1) Sankhya

(2) Nyay
(3) Jain
(4) Yoga

Question Number : 90 Question Id : 5330722456 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T enEs fRey Haria § 7
(1) e
(2) =4
@) H
(4) =m

Question Number : 91 Question Id : 5330722457 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The origin of the word “Urdu’ is from which language ?
(1) Persian

(2) Arabic
(3) Greek
(4) Turkish

Question Number : 91 Question Id : 5330722457 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T4 T 1 e B HA-G W E 2
(1) OfEeR ()
) S
(3) gt
) T

Question Number : 92 Question Id : 5330722458 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Temples of Khajuraho are the monuments of which type of the following styles ?
(1) Pallava style

) Chalukya style
(3) Chandela style

) Hoyasal style

Question Number : 92 Question Id : 5330722458 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WUl % Hiey Fefafea fra T e & FER € ?

(1) oo del
(2) g dedt
(3) e vt

(4) EEHA e

Question Number : 93 Question Id : 5330722459 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The Sikh Saint Guru Nanak met Kabir at which place ?
(1) Ghazipur

(2) Lahore
(3) Varanasi
(4) Ayodhya

Question Number : 93 Question Id : 5330722459 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fa@ 9a 7% T S F TR TH W FER Y2 gE o ?
(1) TSR

(2) @ER
(3) ot
(4) @TEN

Question Number : 94 Question Id : 5330722460 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Nankana the birth place of the Sikh Guru Nanak was located at the bank of which river ?

(1) Sutlyj
(2) Vyas
(3) Jhelum
(4) Ravi

Question Number : 94 Question Id : 5330722460 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o 7% e 1 S T, AT TR e % A fem B2

(1) Hdaas
2 =™
(3) wH
(4) e

Question Number : 95 Question Id : 5330722461 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What percentage of the total salary of sawars, the mansabdars were allowed to keep for the
fulfillment of emergent expenditure during Mughal period ?

(1) Five percent

(2) Eight percent
(3) Three percent
(4) Ten percent

Question Number : 95 Question Id : 5330722461 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e IS & SRA TAGEER] gR WaR! & Fel da &1 e giowa smerfens =@ =i 9fd 8 T s o ?

(1) 9= gfaee
(2) e giavm
(3) @ e
(4) <9 gfaud

Question Number : 96 Question Id : 5330722462 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following monument is noteworthy for its decoration with an inlay of “Pietra dura”
fashion ?

(1) Jamali Masjid at Delhi

(2) Tomb of Itmad-ud-Daula at Agra

(3) Diwan-e-Aam

(4)

Buland Darwaza

Question Number : 96 Question Id : 5330722462 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freferfaa & wm-ar e fon gu'! deft  werae F fou fas €2
(1) foeett =t swmel wfsg

2) HNNH UAHTGIE i Hehe
(3) feam-u-am
(4) Fcig STETE

Question Number : 97 Question Id : 5330722463 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who wrote the text ‘Barvai Nayika Bhed’ ?
(1) Banarasidas

(2) Faize
(3) Abdur Rahim Khan-i-Khana
(4) Surdas

Question Number : 97 Question Id : 5330722463 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"aEs Atk S e o1 T feRE ot i ?
(1) =IREE™

(2) =

(3) g WH H-T-EH]

(4) |&H

Question Number : 98 Question Id : 5330722464 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The translation of Mahabharat in Persian language during the reign of Akbar was done under the
5‘upervision of :

(1) Abul fazl

(2) Faizi
(3) Naaziri
(4) Urfi

Question Number : 98 Question Id : 5330722464 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forerep e/ FIaeM § STeheR & WTEA ic W HEIHRA &1 BRH H Hgars foan wan a2

(1) o9d ®sied
(2) sl

(3) S

(4) I

Question Number : 99 Question Id : 5330722465 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who of the following wrote the book on music named as ‘Kitab-e-Nauras’ ?
(1) Jahandar Shah

(2) Ibrahim Adil Shah II
(3) Bhagat
(4) Bihari

Question Number : 99 Question Id : 5330722465 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafEa § e |@ia @ frae-T—ArE ' A Qs i A1 6 ol ?

(1) SRIER e

2) Telfed Aifee e il
(3) W
(4) faerd

Question Number : 100 Question Id : 5330722466 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The famous poet ‘Bihari’ was in the court of which ruler ?

(1) Jai Singh

(2) Madho Singh
(3) Maan singh
(4) Shalya

Question Number : 100 Question Id : 5330722466 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gyfis #fa ‘ feerl’ forg oo & SEr | 97

(1) smEfHs
(2) T fEE
(3) WHfHE
(4) T

Question Number : 101 Question Id : 5330722467 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following organisation eventually took the shape of Brahmo Samaj in 1828 ?
(I) Atmiya Sabha

(2) Tatvabodhini Sabha

(3)  Young Bengal

(4) Vedant Society

Question Number : 101 Question Id : 5330722467 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

famferfaa § FF-91 §red 74 1828 H o s § 71 ?

(1)  STerg [
(2) oIaEEE g9
(3) IS

(4) <Eid HEEE

Question Number : 102 Question Id : 5330722468 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following astronomers with the time at which they flourished in the chronological
order starting from the earliest ?

(A) Varahmihir

(B) Aryabhatta-I

(C) Brahmagupta

(D) Sripati

(E) Manjula

Choose the correct answer from the options given below :
() (A), (B), (), (D), (E)

@  (B) (©) (A) E), D)

(3) (B). (A), ©. E), (D)

(4) Q. (B). (A), (D), (E)

Question Number : 102 Question Id : 5330722468 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Frefeifias EiETR] i qd & SR 0 FFT § Gt R ;

(A) =rEfEfer
(B) eI
(C) w=ra
(D)  fafa
(E) g

e feu o faeredi o 9 QE I 1 F271 FIfSU
(1) (A), (B), (), (D), (E)

(2)  (B), (©) (A), (E), (D)
(3)  (B), (A), (O), (E), (D)
4) (©), (B), (A), (D), (E)

Question Number : 103 Question Id : 5330722469 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange in sequence the coming (penetration) of following foreign elements in chronological order,
starting from the earliest :

(A) Hunas
(B) Kushanas
(C) Greeks

(D) Seythians
Choose the correct answer from the options given below :

(1) (A), (B), (©), (D)

2 (©. (D), (B) (A)
3)  (©, () (B) (D)
1) (D) Q) (B) (A)

Question Number : 103 Question Id : 5330722469 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freferfaa facferdi % s 1 96 § 3Ry ik ek H Geaareerd Hifsg ;

(A) &7

(B) ZFuM
(€) F
(D) fafrTA

= feu o fawredi § 9 WEF 3T & 994 FIf90
(1) (A), (B), (©), (D)

(2 (@), (D), (B), (A)
@) (©. (A), (B), (D)
4) (D) Q). (B) (A

Question Number : 104 Question Id : 5330722470 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following saints in the chronological order, according to their birth year, starting from
the earliest :

(A) Madhawacharya

(B) Chaitanya

(C) Ramanuja

(D) Ramanand

Choose the correct answer from the options given below :
() (A), B), (O (D)

(2) Q). (B). (D), (A)

(@) (B, (O (A), (D)

4 (©), (A), (D) (B)

Question Number : 104 Question Id : 5330722470 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfeiaa Sal & 37k <=1 oY & FIoERA S Jd § TR Tk Goaafced hifa

(A) HHEEE
(B) =
(C) qHgH
(D) THHS

1 feu o faped & 9 W& TR 1 94 HIGC
(1) (A), (B), (C), (D)
(2) (©), (B), (D), (A)
(3) (B), (O, (A), (D)
4 (©), (A), (D), (B)

Question Number : 105 Question Id : 5330722471 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following events/incidents in the chronological order of their happenings starting
from the earliest :

(A) The first Indian women to pass the M.A. examination.

(B) The first Indian women editor of a monthly Bengali megazine, the Bharti.

(C) The first Indian women to address the public meeting in English.

(D) The first Indian women to get a Bachelor degree in medicine in a foreign country.
Choose the correct answer from the options given below :

1) (B, (©), (A) (D)

(2 (), (A), (B) (D)

(3) (A), (B), (C), (D)

@) (D) (A) (B), ([©)

Question Number : 105 Question Id : 5330722471 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frfafaa s #t 7 "fed T & Fehn & I ¥ SR Fh GoAareerd Hife
(A) TH.U e 3l A Al ggd yRdE Afeen

(B) smredt g ufireR, ‘Wit @ yuw vRdArg wfeen SueE

(C) TTeSIfeR o3 1 3Tis H e s 9w Jom YR Afeet

(D) fagw o fafswem (Afed) o @ 3Te Tt 3 arel 9om v fee

= feu o foeredi & | W& I &1 =74 FfE -

(1 (B, (O (A) (D)

2 (©, (A), (B), (D)
@) (A) (B), (O, (D)
4) (D) (A)(B), (©

Question Number : 106 Question Id : 5330722472 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following events/incidents in the chronological order starting from the earliest :
(A) Foundation of Paramhams mandali at Bombay

(B) Foundation of Gurukul at Haridwar

(C) Arrival of Mrs. Annie Besant into India

(D) Foundation of Muhammadan Literary Society at Culcutta
(E) Foundation of Theosophical Society at Adyar

Choose the correct answer from the options given below :

1) (A) (B). (©), (D), (E)

2 (A) (D), (E), (©) (B)

@) (B), (D) (A) () (B)

) (©. (D) (B), (A) (E)

Question Number : 106 Question Id : 5330722472 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freafafaa s o gd | 1Y 0 Fleshd H geaafera Fifs
(A) we3 H THEH Heel! i T

(B) TRER ¥ THFA &l T

(C) YRa | St T aF2 =1 SFTHA

(D) ekl H Hewed faerl 9Mm@Eel & w4l

(E) 3=dR H ToRgheher SrEmel shi T

= feu mu fasredi & | Q& I & =941 FfGC

(M (A) (B), (©), (D), (E)

(2 (A), (D), (E), (C), (B)

) ), (C)
(3) (B, (D), (A), (©), (B)
@) (©), (D) (B), (A), (E)

Question Number : 107 Question Id : 5330722473 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List - 1 List - II
(Work) (Author)
(A) Kural () IHangoadigal
(B) Shilappadikaram (I) Sattanar
(C) Manimekhalle (OI) Tolkappiyar
(D) Tolkappiyam (IV) Tiruvalluvar

Choose the correct answer from the options given below :
(1 A1), (B-(IV), (C)-(IIL), (D)-(I)
() (AIV), (B)-(), (C)-(IIT), (D)-(I)
()  (A)(IV), (B)-(1), (C)-(II), (D)~{IL)
(4)  (A)-(D), (B)R-(IV), (C)-(II), (D)-(I)

Question Number : 107 Question Id : 5330722473 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tt - 19 =it - 11 =1 Ty #ifs
T - 1 Tt - 11

(7= ) (rE® )
(A) F O  zEmeteTe
(B) TRrewfe=pH () FEAR
(C) wfrEs (II1)  creTeRTToE
(D) dreTeRTiomEy (1v) fazaeaer

= fou 7o faeredl § § W& 3T & 95949 FIfAC ;
(1) (A1), (B}(IV), (C)-(IIT), (D)-(IT)
(2)  (A)AIV), (B)~(D), (C)-(IIL), (D)-(IT)
(3)  (A)-(1V), (B)~(1), (C)-(II), (D)-(I1L)
4) (A1), (B)}-(IV), (C)-(II), (D)-(I1L)

Question Number : 108 Question Id : 5330722474 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List - 1 List - I
(Province) (Capital)
(A) Uttarapath () Pataliputra
(B) Dakshinapath (I) Taxila
(C) Prachya (L) Ujjayani
(D) Avantirastra (IV) Suvarnagiri

Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(IIL), (C}(IV), (D)-(II)
2 A1, B)-(1IV), (O)-1), (D))
(3) (A1), (B)-(1), (O)(IL), (D)-(IV)
(4)  (A)-(IV), (B)-(I), (C)-(IM), (D)-(II)

Question Number : 108 Question Id : 5330722474 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tt - 19 =it - 11 =1 Ty #ifs
Tt - 1 Tt - 11

(wrer) ( Tt )
(A) STU9A 1 Hefag
(B) =feomay (I1) aseen
(C) wr=A (II1) =it
(D) emafT (v) ot

= fou 7o faeredl § § W& 3T & 95949 FIfAC ;
(1) (A)-(1), (B)-(II), (C)-(IV), (D)~(IT)
(2) (A1), (B)-IV), (O)-(1), (D)~(11D)
(3)  (A)-(1D, (B)-(1), (©O)-(IL), (D)-(IV)
(4)  (A)-(1V), (B)~(I), (C)-(LLL), (D)-(IT)

Question Number : 109 Question Id : 5330722475 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List - 1 List - I
(Book) (Author)
(A) Astang Hridaya (I) Varahmihir
(B) Vrihajjatak (I) Asang
(C) Mahabhaskarya (II) Vagbhatt
(D) Prakaran Aryavacha (IV) Bhaskar I

Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(L), (C)-(IT), (D)-(1V)
(2) (A, (B)-(IV), (O)-(ID), (D)-I)
(3)  (A)-(I), (B)-(L), (C)(IV), (D)-(I)
(4)  (A)-(ID, (B)-(D), (O)-(IV), (D)-(II)

Question Number : 109 Question Id : 5330722475 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tt - 19 =it - 11 =1 Ty #ifs
T - 1 Tt - 11

(7= ) (rE® )
(A) TR B () =
(B) FESI® (I =T
(C) WHeTIERd (IlI) arYzz
(D) WY STEarE (IV) STRRY 9

= fou 7o faeredl § § W& 3T & 95949 FIfAC ;
(1)  (A)-(1m), (B)-(I), (C)-(1), (D)-(IV)
(2) (A, (B)~(IV), (C)~(1D), (D)-(I)
(3)  (A)-(), (B)-(I), (C(IV), (D)-(IT)
4)  (A)-(1D), (B)-(), (C)-(1V), (D)-(I1L)

Question Number : 110 Question Id : 5330722476 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List - 1 List - II
(Entry gates of (Dwar Pandit (Scholar at gate))
Vikramshila University)
(A) East Gate (I) Pragyakarmati
(B) West Gate (I)  Narop
(C) North Gate (IIf) Vagishwar Kirti (Varanaseya)
(D) South Gate (IV) Acharya Ratnakar Shanti

Choose the correct answer from the options given below :
(1) (A)-IV), (B)-(1D), (O)~(ILI), (D)-(I)
(2 (A)-(1V), (B)-(IIL), (C)~(1I), (D)-(I)
(3)  (A)-(Il), (B)-(ID), (C)-(I), (D)-(IV)
(4)  (A)-(HI), (B)-(IV), (O)~(II), (D)-(I)

Question Number : 110 Question Id : 5330722476 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[ - 19 = - 11 w1 frer wifs

T - 1 et - 11
( Fasrafyren favafaemea & wavr g) ( greafrsd )
(A) 9 ER () YSERTHf
(B) df¥=mW BR (I
(C) IWER (III) amreey shifd (SRToES)
(D) sfeqor gR (IV)  SAT=Td TeRt ot

=1 feu 7o fawredi © 9 QE I 1 F21 FfSU
(1) (A)(IV), (B)-(II), (O)-(I1L), (D)~(I)
(2)  (A)-IV), (B)-(IL), (C)~(1D), (D)-(I)
(3) (A)-(m), (B)-ID), (O)-(1), (D)-(IV)
4) (A)-I), (B)-(IV), (O)-(D), (D)-(I)

Question Number : 111 Question Id : 5330722477 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List - 1 List - II
(Sufi Saint) (Death Year)
(A) Sheikh Muinuddin Chisti (Iy 1325
(B) Sheik Fariddudin Ganj-e Shakar (II) 1356
(C) Sheikh Nizamuddin Aulia (IIT) 1235
(D) Shaik Nasuruddin Chirag-e-Dehli (IV) 1265

Choose the correct answer from the options given below :
(1) (A)HD, (B}-(II), (O)-(II), (D)-(IV)
(2) (A, (B)-(IV), (O)-(D), (D)-(IN)
(3)  (A)(IV), (B)-(1T), (C)-(IL), (D)-(I)
(4)  (A)-(ID), (B)-(IV), (O)-(I1I), (D)-(I)

Question Number : 111 Question Id : 5330722477 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tt - 19 =it - 11 =1 Ty #ifs

T - 1 Tt - 11
(gt /=) (U T )
(A) I geaee fagdl () 1325
(B) I FHHIGEA TS-U-9IRT (I) 1356
(C) ¥ FemggE shifan (1) 1235
(D) V@ THEGA fem-u-gged (IV) 1265

= fou 7o faeredl § § W& 3T & 95949 FIfAC ;
(1) (A1), (By(ID), (C)-(Im), (D)-(IV)
(2) (A1), (B)~(IV), (C)~(D), (D)-(IT)
(3)  (A)-(1V), (B)~(1D), (O)-(I1L), (D)-(I)
4) (A1), (B)-(1V), (O)-(I11), (D)-(L)

Question Number : 112 Question Id : 5330722478 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List - I List - II
(Social Legislations) (Year of Passing/Enactment)
(A) Preventions of Sati Act () 1891
(B) Widow remarriage Act (II) 1843
(C) Abolition of slavery Act (I 1829
(D) Age of consent Act (IV) 1856

Choose the correct answer from the options given below :

1 A)-(), (B)-(D), (O-(I), (D)-(LV)

(2) (A, (B)-(1V), (O, (D)-@)
(3)  (A)-(), (B)-(11), (©)-AV), (D)-(1)
) (A1, (B)-IV), (O)-(1), (D))

Question Number : 112 Question Id : 5330722478 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tt - 19 =it - 11 =1 Ty #ifs
T - 1 Tt - 11

(st fase ) ( wrfa/3irireRor = )
(A) Herden TR STt () 1891
(B) Taeren 44 faeme sifuf=m (I) 1843
(C) T/F v e afufTam (1) 1829
(D) THfG 3y ST (IV) 1856

=1 feu o fashed & 9 WEl TR 1 997 HIC ;
(1) (A)-(D), (B)-(ID), (O)-(II), (D)-(IV)
(2)  (A)-(II), (B)IV), (C)A1L), (D)-(I)
(3) (A, (B)-(1D), (O)-(1V), (D)-(1)
(4) (A1, (B)-(1V), (O)-1), (D)-(111)

Question Number : 113 Question Id : 5330722479 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following books are written by the British administrator Arthur Anthony
Macdonel ?

(A) Vadic Reader

(B) Vadic Grammer

(C) History of Classical Sanskrit Literature

(D) History of Sanskrit Literature

Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

() (A), (B), (C) only

(3)  (A), (B), (D) only

(4) (A) and (D) only
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Question Number : 113 Question Id : 5330722479 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafen yomas SfecrdR e T Teheqa g fafaa qeas &F o € 2
(A) dfgsw frex

(B) dafgs e

(C) Teedi &ifw Fenfasal Gehd forei=

(D) o=l & gega fora

1 feu T forredl H§ | Hed SUged 3T 1 999 hiTag

(1) 9 (A) &R (B)

(2) = (A), (B), (O)

(3) S (A), (B), (D)

(4) FFA (A) 3R (D)

Question Number : 114 Question Id : 5330722480 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following texts are composed by ‘Ashwaghosha’ ?

(A) Kavya darsha

(B) Buddhacharitam

(C) Saundaranand

(D) Avanti sundari Katha

Choose the most appropriate answer from the options given below :
(1) (B) and (C) only

(2) (A) and (B) only

(3) (A)and (D) only

(4) (C) and (D) only

Question Number : 114 Question Id : 5330722480 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafaa # #F-8 Heif % @t srgadm’ €2

(A) TS
(B) SEaRE
(C) HietHg
(D) @Efa gl

= fou T foepedl # @ Ter® SUgaR I 6 T4 R :
(1) = (B) &R (O)

(2) A (A) 3R (B)
(3) A (A) AR (D)
(4) @@ (C) ¥R (D)
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Question Number : 115 Question Id : 5330722481 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

At which of the following places Maharaja Sawai Jai Singh [l made his observatories ?
(A) Jaipur

(B) Mathura

(C) Delhi

(D) Jodhpur

(E) Udaipur

Choose the most appropriate answer from the options given below :
(1) (A), (), (D) only

2 (B), (O, (E) only

(3) (A), (B) (C) only

(4)  (A), (O), (E) only

Question Number : 115 Question Id : 5330722481 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafaa o fofm Toel W Termen Tar w19 foe-10 9 279 Sererensdi <1 fmfo foam or ?

(A) SHEAR
(B) AY
(G |
(D) SR
() AR

=1 feu v famredi § | Wed SUTer I 1 =TI HIS0
(1) 4 (A), (), (D)
(2) e (B), (O), (B)
(3) = (A), (B), (C)
(4) A (A), (O), (E)

Question Number : 116 Question Id : 5330722482 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following texts are published as the letters of Ghalib ?
(A) Ud-i-Hindi

(B) Banga-i-Dara

(C) Payam-i-Azadi

(D) Urdu-i-Mualla

(E) Iblis ki Majlis-e-Sewa

Choose the most appropriate answer from the options given below :
(1) (A), (B), (D) only

() (B), (O, (D) only

(3) (A), (D) only

(4)  (A), (E), (D) only
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Question Number : 116 Question Id : 5330722482 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafaa # #m-8 Ty miers 2 Ofecs % &9 H e § 2

(A) T-u-TE
(B) SM-T-TM
(C) TATH-T-SaT
(D) SF-T-Hen

(E) zafer = Heferd—u-—ga

el feu TTu fasredi # 9 waw Suge I 1 =999 HiT9
(1) e (A), (B), (D)

(2) e (B), (C), (D)

(3) e (A), (D)

(4) &= (A), (E), (D)

Question Number : 117 Question Id : 5330722483 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who of the following were the Persian poets during mughal period ?

(A) Faizi
(B) Allaul
(€C) Ura
(D) Naziri

Choose the correct answer from the options given below :
(I) (A) and (B) only

(2)  (A). (B), (C) only

(3) (A), (O), (D) only

(4) (A), (D) only

Question Number : 117 Question Id : 5330722483 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frfafaa  qrcrerelm FRE 9T % Hfd FE-HE 9 ?

(A) il
(B) HedESd
(C) 3w
(D) oI

= feu o fawredi § 9 WE 3T & 999 FIf90
(1) = (A) 3R (B)

(2) e (A), (B), (C)

(3) = (A), (), (D)

(4) % (A), (D)

Question Number : 118 Question Id : 5330722484 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

During the decay of the Mughal Empire which of the fn]lnwing states may be characterised as
“succession states” ?

(A) Bengal

(B) Awadh

(C) Rajputana

(D) Hyderabad

(E) Punjab

Choose the correct answer from the options given below :
(1) (A) and (B) only

@ (A), (B), (O) only

(3)  (A), (B), (E) only

(4)  (A), (B) and (D) only

Question Number : 118 Question Id : 5330722484 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e W % 9a9 & e fefafes | fe ol o Terien 19 % w9 § favrdiea e s g€ 2

(A) e
(B) =¥aH
(C) TsTgar
(D) TeTEg
(E) HUs&

g fou o fashedi § 9§ W& 3 & 9549 FIfAC

(1) = (A) 3R (B)
(2) FE (A), {B) (©
(3) %aE (A), (B), (E)
(4) = (A), {B)aﬁuD
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Question Number : 119 Question Id : 5330722485 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following collections are of Kabir :
(A) Ramainis

(B) Sabdas

(C) Japji

(D) Sakhis

(E) Bhaktmala

Choose the correct answer from the options given below :
(1) (A), (B), (C), (D) only

(2)  (A), (B), (D), (E) only

(3) (A), (B), (D) only

(4) (A), (D), (E) only

Question Number : 119 Question Id : 5330722485 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e H - Fe o T & 2

(A) ar
(B) T
(C) st
(D) ErEt
(E) Y=dHIA

1= feu 7o faredi § 9 W& 3 1 9949 Fif9u :
(1) = (A), (B), (O), (D)

(2) = (A), (B), (D), (E)
(3) e (A), (B), (D)

(4) A (A), (D), (E)

Question Number : 120 Question Id : 5330722486 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following archeological sites in chronological order of their excavations, starting from
the earliest :

(A) Desalpur

(B) Balakot

(C) Rakhigarhi

(D) Manda

(E) Banawali

Choose the correct answer from the options given below :
(1) (A), (©), (B), (E), (D)

2 (B) (O, (A), (B), (D)

(3) (D) (A), (B), (C) (E)

4)  (A), (©), (E), (B), (D)

Question Number : 120 Question Id : 5330722486 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TS ¥l & THfaiEd qUeerel o 30@-H 1 o SR T § SHaieed Shifag
(A) THIR

=

(B) IR
(C) WETE
(D) W=
(E) @t

=1 feu o fasredi © 9 TE 3T 994 Fif90
(1) (A), (©), (B), (E), (D)
(@  (B) (©), (A), (E), (D)
3) (D). (A). (B), (O), (E)
4) (A), (©), (E), (B), (D)

Question Number : 121 Question Id : 5330722487 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the fn]lnwing saints in chronological order of their time period starting from the earliest :
(A) Muhammad Shah Alam in Gujarat

(B) Sheikh Abdul Kuddas Gangohi in Uttar Pradesh
(C) Sheikh Ahmad Sarhindi in Haryana

(D) Sharafuddin Yahya Maneri in Bihar

Choose the correct answer from the options given below :
(1) () (D), (A), ©

@ (D) (A) (B), ©

3 (©. (B) (D), (A)

@ (&) (B) (©) (D)

Question Number : 121 Question Id : 5330722487 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafaa dedl i 3HT F1a 79t & Foepky § Jd AR FF A Hife
(A) TEE W HEWS 98 &ATeH

(B) ST YW H I Yegel FEET e

(C) =famn ¥ rg sreme W

(D) Torer ¥ W= ared T

= feu o foeredi & | W& I &1 =74 FfE -

(1) (B), (D), (A), (O

(2 (@) (A) (B), (©)
@) (©), (B), (D), (A)
4) (A) (B), (O (D)

Question Number : 122 Question Id : 5330722488 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following structures built during Mughal period in chronological order starting from
the earliest :

(A) City of Fatehpur Sikri

(B) Moti Masjid at Lahore

(C) Humayun tomb at Delhi

(D) Moti Masjid at Delhi

Choose the correct answer from the options given below :
1) (A), B), (©) (D)

(@) (D) (A) (B), (©

(3) (O, (A), (B), (D)

(4) (©), (B) (D), (A)

Question Number : 122 Question Id : 5330722488 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freafafiaa Tt 1 o <A it dEeti/2= o g6 € s/RY Fih Floskd § geafied Hhifs
Faeql FaeRdl &1 T

(B) EER I Hidl AiEsg

(C) feoedt # s wekal

(D) feoedt =1 #rdl Afsg

=1 feu o fosredi & | @& I @1 =2A Ff

(1) (A), B), (CQ), (D)

2 (@) (A) (B), (©)
@) (©, (A), (B), (D)
@) (©, (B) (D) (A)

Question Number : 123 Question Id : 5330722489 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following writers of classical literature in chronological order of their time - period,
st'arting from the earliest :

(A) Dandin

(B) Abhinavgupta

(C) Bhamaha

(D) Udbhata

Choose the correct answer from the options given below :
(1) @A), B, (), (D)

(2) Q). (A), (D), (B)

@)  (©, (B), (A), (D)

4 (B), (C), (D) (A)

Question Number : 123 Question Id : 5330722489 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

wfea Gifecd & freAfafad Tgehl &l 3Teh! Shierens ST 9N I8 ¥ Y ik FIephd H Geqa e Hife
(A) =S

(B) Ve
(C) wHe
(D) 389E

1 feu o faped & 9 W& TR 1 94 HIGC
(1) (A), (B), (O, (D)

2 (©), (A) (D) (B)
@) (©), (B) (A) (D)
4) () (©Q (D) (A)

Question Number : 124 Question Id : 5330722490 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.

List - 1 List - I
(Poet) (Language)
(A) Shankardeva (I) Assamese
(B) Vidyapati (II)  Oriya
(C) Mira Bai () Maithali
(D) Saraladas (IV) Rajasthani

Choose the correct answer from the options given below :
(L  (A)-(D), (B}-(IL), (C)-(IV), (D)-(IT)

2 (A, (B)-(D), (O)-(), (D)-(V)
(3)  (A)-(), (B)(11), (©)-(1), (D)-(V)
4)  (A)-), (B)-(IV), (O(1D), (D)-(I)

Question Number : 124 Question Id : 5330722490 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 19 =it - 11 =1 Ty #ifs
Tt - 1 T - 11

(=fa) ( e )
(A) viERTeE ()  aT9H
(B) faemafa (I 3fea
(C) Hrame (Iny  Aferedt
(D) HIARH (IV) TrsTEer

= fou 7o faeredl § § W& 3T & 95949 FIfAC ;
(1) (A)-(1), (B)-(LI), (C)-(IV), (D)~(IL)
(2) (A1), (B)-(1), (O)-(1D), (D)-(IV)
(3)  (A)-(IO), (B)-1D), (O)-(1), (D)-(IV)
(4)  (A)-(II), (B)-(IV), (O)(11), (D)-(I)

Question Number : 125 Question Id : 5330722491 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I
(Sufi Texts) (Writer/Composer)
(A) Kashf-ul-Mahjub (I)  Amir Hasan Sizaji Dehalvi
(B) Favaid-al-Fuwad (II) Abdul-Haq Muhaddis Dehalvi
(€) Maktubat-e-Imam Rabbani (II) Al Bin Usman Huzviri
(D) Akhbar-ul-Akhyar (IV) Sheikh Ahamad Sarhindi

Choose the correct answer from the options given below :

1) (A, (B)-(1D), (O)-(M), (D)-(LV)

@ (A1), (B)-Iv), (O)-(1), (D)-()
(3)  (A)-(), (B)-(D), (O(I), (D)-(V)
4)  (A)I), (B)-(D), (O-(1IV), (D)-(1)

Question Number : 125 Question Id : 5330722491 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 19 =it - 11 =1 Ty #ifs

Tt - 1 T - 11

( gwiTe ) ( erges /cafaer)
(A) FIF-IA-HEI () o7 g5q fasrs SeerE
(B) WETEE-A-FAR (II) 3TgA-gH-HERE gl
(C) WehgaE-U—ZHH @Al (II1) 7ett fort Sem gsrerd
(D) STER-3T- &R (IV) I 3Teng Sufeal

= fou 7o faeredl § § W& 3T & 95949 FIfAC ;
(1) (A)-(1), (B)-(IT), (C)-(111), (D)-(IV)
(2) (A1), (B)-IV), (O)-(1), (D)~(11D)
(3)  (A)-(I), (B)-(I), (©)-(11), (D)-(IV)
(4)  (A)-(1I), (B)-(I), (C(1V), (D)-(IT)

Question Number : 126 Question Id : 5330722492 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - I
(Independent State/Kingdom) (Founder)
(A) Hyderabad (I) Saadat Khan
(B) Mysore (I)  Nizam-ul-Mulk
(€) Awadh (III) Murshid Quli Khan
(D) Bengal (IV) Haider Ali

Choose the correct answer from the options given below :
(1) (A)-(ID, (B)-(IV), (O)-(I), (D)-(I)
(2) (A1), (B)-(IV), (O)-(1D), (D)-(1)
(3)  (A)(IV), (B)-(IT), (C)-(T), (D))
(4)  (A)-(ID), (B)-(I), (O)-(II), (D)-(1V)

Question Number : 126 Question Id : 5330722492 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 19 =it - 11 =1 Ty #ifs
T - 1 Tt - 11

(=T T ) ( EEATI )
(A) TeUars () HEE[ @A
(B) WY an s qen
(C) =13y (1) s Feft @™
(D) =T (IV) s areft

= fou 7o faeredl § § W& 3T & 95949 FIfAC ;
(1)  (A)-(1D), (B)-(IV), (O)-(1), (D)-(I1I)
(2) (A1), (B)-IV), (O)-(ILL), (D)-(I)
(3)  (A)-(IV), (B)~(1D), (O)-(1), (D)-(I1L)
(4) (A)-(1m), (B)-(I), (C)(1I), (D)-(1V)

Question Number : 127 Question Id : 5330722493 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Social and Religions Reformer) (Organisation)
(A) Dadabhai Naoroji (I) Prarthana Samaj
(B) Madam H.P. Blabatsky (I Arya Samaj
(C) Lala Hansraj (Ilf) Rahnumai Mazdayasan Sabha
(D) R.G. Bhandarkar (IV) Theosophical Society

Choose the correct answer from the options given below :
(1)  (A)-(I), (B)-(1), (O)-(IV), (D)~(11I)

(2)  (A)I), (B)1V), (O)-(), (D)-(1)
() (A)-(), (B)-(II), (O)-(IT), (D)-(IV)
(4)  (A)I), (B)-(1V), (O)-(1D), (D)-()

Question Number : 127 Question Id : 5330722493 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Tt - 19 =it - 11 =1 Ty #ifs
Tt - 1 Tt - 11

(TR Ud enfien qume ) ( HISA /T )
(A) TIRIE IS (1) w1 o
(B) HeH WA Ui scArerEant (1) = Furs
(C) et g5rs (1) T@IHE HEEarET §41
(D) &R St HERHL (Iv) faarfrsa GEmEed

= fou 7o faeredl § § W& 3T & 95949 FIfAC ;
(1) (A)-(1D), (B)-(I), (C)-(1V), (D)-(11L)
(2) (A, (B)~(IV), (C)~(D), (D)-(II)
(3)  (A)-(), (B)y(L), (C)-(IL), (D)-(IV)
(4)  (A)-(II), (B)-(IV), (O)(11), (D)-(I)

Question Number : 128 Question Id : 5330722494 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who started the ‘Satya Prakash’ in Gujrati language in 1852 to advocate widow remarriage ?

(1) D.B. Naoroji

(2) Bhau Daji

(3) Karsondas Mulji

(4) Vishnu Shastri Pandit

Question Number : 128 Question Id : 5330722494 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fore faren foare o awea & fau a6 1852 ot wm § gy gahmn’ Sy foran o ?

(1) EIs. ARt

(2) TS =l

(3)  THTEASH oSt
(4) ooy smeh dfea

Question Number : 129 Question Id : 5330722495 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Under the supervision of Vidyasagar, the first lawful Hindu widow remarriage among the upper

castes was celebrated in :

(1) Calcutta on 7 December 1856
) Bombay on 7 December 1856

(3) Calcutta on 7 December 1855
) Banaras on 7 December 1856

Question Number : 129 Question Id : 5330722495 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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feramanR & rieyE o 3= wfaal o e faven foare wurre st foan .
(1) ek H 7 fga 1856 H

(2) @@ H 7 feHer 1856
(3) eHerRdl H 7 fedey 1855
(4) =RE H 7 fHaw 1856 A

Question Number : 130 Question Id : 5330722496 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Evidence of highly developed water management system is found from which of the following
sites ?

(1) Alamgirpur
(2) Dhaulavira
(3) Kalibanga
(4) Lothal

Question Number : 130 Question Id : 5330722496 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T I SA-FaHA ST 1 e foh To/er § 9T ge7 €7

(1) STATIR

(2) HrermEry
(3)  =RICHET
(4) wge

Question Number : 131 Question Id : 5330722497 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The ”Age of Consent Bill” of 1891 was passed for which of the fDllowmg ?

(1) To prevent early consummation of marriage
(2) To prevent early education to girl child

(3) To prevent early inheritance of property

(4) To prevent sati in early age

Question Number : 131 Question Id : 5330722497 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafaa & foergert Uskam o foae od 1891 # ‘v 1fw Hide T’ wifta fomar wan o1 ?
(1) S9aYd/searg | fasre 1 T

(2) @fereR T THEqE e =it T
(3) HYd T FHAYE STHFR T TFAH
(4) =9 g H Gl 94 FH UFAH

Question Number : 132 Question Id : 5330722498 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Who was the first Bengali Muslim graduate of Calcutta University ?
(1) Abdul Latit
) Syed Amir Ali
(3) Ahmad Khan
)

Hosain Ahmad

Question Number : 132 Question Id : 5330722498 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ferh favafaarer &1 Jem sl gieem s S o ?

(1) rgd wd®
(2) EFT IR erel
(3) @HE WM
(4) TET AR

Question Number : 133 Question Id : 5330722499 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who of the following is associated with “Poona Saarvajanik Sabha” ?
(1) M.G. Ranade

(2) R.G. Bhandarkar

(3) B.G.Tilak
(4) Jyotiba Phule

Question Number : 133 Question Id : 5330722499 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafea & & g At g’ | geEfug €2

(1) THSE S

(2) SRS HErE
(3) @Sl faes
(4) It B

Question Number : 134 Question Id : 5330722500 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who founded the organisation named as “Indian Society of Oriental Art” in Bengal ?
(1) Rabindranath Tagor

(2) Avanindra Nath Tagor
(3) Gaganendra Nath Tagor
(4) Yamini Roy

Question Number : 134 Question Id : 5330722500 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 85/95



8/22/24, 11:52 PM g28.digialm.com/CAE/viewHtmIPDFAction.action

Ime § ‘2feaq GraEE o ANuee TR AMe e 1 LTI i o1 7

(1) TigTy 3R
(2) g MY TR
(3) THE MY SR
(4) =rEAT I

Question Number : 135 Question Id : 5330722501 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who of the following were the Urdu poets during nineteenth century ?
(A) Shah Abdul Latif

(B) Mir
(C) Mirza Ghalib
(D) Nazir

(E) Warris Shah

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

() (B), (O) and (D) only

(3) (A), (C) and (D) only

4) (©), (D) and (E) only

Question Number : 135 Question Id : 5330722501 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ffarfaa # 19 =ff wraredt % <RH 3¢ F FHia FH-FE 97
(A) 9TE 375 oA

(B) #HR
(C) Trsm mfea
(D) S
(E) =™ me

1 feu o foeredl # | Wer| SUger 3T T4 HIAC
(1) ad (A), (B) 3R ()

(2) = (B), (C) ¥R (D)
(3) = (A), (C) 3R (D)
(4) = (O), (D) #HR (B)

Question Number : 136 Question Id : 5330722502 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The grants given by Mughal emperors to individuals for revenues of particular area of land, were
known as :
(A) Madad-i-mash
(B) Suyurghal

(C) Watan
(D) Amlak
(E) Aimma

Choose the most appropriate answer from the options given below :
(1) (A)and (D) only

2)  (A) (B), (D), (E) only

() (A), (©) (E) only

4) (A). (B), (©), (D) only

Question Number : 136 Question Id : 5330722502 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TITeT YTEehI o G0 Al ol ToRdl &5 Tasiy o 9-TS1ed ol 3796 & ®9 H qU ST i 31 el Sl o ?
(A) HES-T-HM

(B) AU
(C) daA
(D) 3w
E) T

f= feu o feredl # & Fad SUgaR I =T HIfe
(1) e (A) 3 (D)

(2) = (A), (B), (D), (E)

(3) = (A), (C), (E)

4) = (A), (B), (C), (D)

Question Number : 137 Question Id : 5330722503 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following term is used for “Mahavir”, 24t Teerthankara of Jain Sect ?
(A) Arhat

(B) Shakya
(C) Nirgranth
(D) Jin

(E) Tathagat
Choose the correct answer from the options given below :
(1) (A), (B), (C) only

2 (A), (©), (D) only
(3) (A) and (E) only
4) (A (C) (E) only
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Question Number : 137 Question Id : 5330722503 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

39 Tvem ¥ 24 F draf oeER’! & fau frefafas 8 S99 v wE fe e §7
(A) o4

(B) WM
(C) frig
(D) fo
(E) wHmd

1= feu 7o faredi § 9 W& 3 1 9949 Fif9u :
(1) e (A), (B), (C)
(2) e (A), (), (D)
(3) FEE (A) 3R (E)
(4) WA (A), (O), (E)

Question Number : 138 Question Id : 5330722504 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who were the famous musicians in the court of Shahjahan ?
(A) Sukhsain

(B) Hamja

(C) Lal Khan Mahan

(D) Parvez Daad

Choose the correct answer from the options given below :
(1) (A) and (C) only

(2) (A) and (B) only

(3) (B, (C) and (D) only

4) (C) and (D) only

Question Number : 138 Question Id : 5330722504 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WESTEl F Slanr # UG Siifashr & 9 22

(A) gaE&

(B) EwSm

(C) el @H HeH

(D) &S T%

=1 feu o faspedi  F Q& SR F =TI FIGC
(1) = (A) 3R (C)

(2) A (A) IR (B)
(3) e (B), (C) IR (D)
(4) FEA (C) &R (D)
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Question Number : 139 Question Id : 5330722505 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following dates are correctly matched with the periodisation of Harappan
civilization ?

(A) Arnest Mackey : 2500 - 2300 BC.

(B) Madhav Swaroop Vasta : 2500 - 2300 BC.

(C) C.G. Gaide : 2350 - 1700 BC.

(D) Sir John Marshal : 3250 - 2750 BC.

Choose the correct answer from the options given below :
(1)  (B) only

(2) (A) and (C) only

(3) (C) and (D) only

(4) (A) and (D) only

Question Number : 139 Question Id : 5330722505 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teo Ween i faeft § grsfia #m o fafesn qofem § 2
(A) 3 B : 2500 - 2300 E2.

(B) HIYE TWEY FeH : 2500 - 2300 3.5,

(C) disft. 722350 - 1700 £.5.

(D) HX A A : 3250 - 2750 3.3.

= feu 7o fawredi o 9 QE I F1 =T FIfSU

(1) e (B)

(2) I (A) IR (C)
(3) I (C) 3R (D)
(4) eI (A) 3R (D)

Question Number : 140 Question Id : 5330722506 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are Neolithic tools ?
(A) Burin

(B) Gadashirsha

(C) Scrapper

(D) Spade

(E) Sickels (Bansuli)

Choose the most appropriate answer from the options given below :
(1) (A), (C) only

@  (C), (D), (E) only

(3) (&) (B) (©), (D) (E)

4) (B), (D), (E) only
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Question Number : 140 Question Id : 5330722506 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ffefaa & § Feamfors Sy €
(A) =HA
(B) e
(C) ®FW
(D) Fem

(E) sige

firdy form T femredll & & ad SUE I F A FIAA ;
(1) e (A), Q)

(2) = (Q), (D), (E)

3) (&), (®), (©. D) (B

(4) =4 (B), (D), (E)

Sub-Section Number : 2
Sub-Section Id : 533072101
Question Shuffling Allowed : No

Question Id : 5330722507 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No Question Pattern Type : NonMatrix
Question Numbers : (141 to 145)
Question Label : Comprehension

Read the following passage and answer the questions.

Bhagavatism originated in post-Maurya times and centred around the worship of Vishnu or
Bhagavata. Vishnu was a minor god in Vedic time. He represented the sun and also the fertility cult. By
the second century BC he was merged with a god called Narayana and came to be known as Narayana-
Vishnu. Originally Narayana was a non-vedic tribal god called bhagavata and his worshippers were
called bhagavatas. This god was conceived as a divine counterpart of the tribal chief. Just as a tribal
chief received presents from his Kinsmen and distributed shares among them, Narayana also was supposed
to bestow shares or good fortune (bhaga) on his bhaktas or worshippers. In return the worshippers or
bhaktas offered their loving devotion or bhakti to him. The worshippers of Vishnu and those of Narayan
were brought under a single umbrella by merging Vishnu with Narayana. The former was a vedic god
and the latter emerged subSEquenl'ly with non-vedic associations, but the two cultures, the two types of

peoples and the two gods mingled and merged.

Sub questions

Question Number : 141 Question Id : 5330722508 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who was the main god during the vedic age ?
(1) Vishnu

(2) Indra
(3) Narayana
(4) Shiva

Question Number : 142 Question Id : 5330722509 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is the main lesson derived from the Bhagwat Dharma ?
(1) Religion and Voilence

(2) Bhakti/Devotion and Yoga

(3) Bhakti/Devotion and non-voilence

(4) Bhakti/Devotion and Yagya

Question Number : 143 Question Id : 5330722510 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which caste group of ancient India treated Vishnu as their Hero/Leader ?

(1) Vrikha
(2) Vrishna
(3) Yadu
(4) Purana

Question Number : 144 Question Id : 5330722511 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which Dharma/Religion was suffered after spreading of Bhagawat Dharma ?
(1) Jainism

(2) Hinyan Bauddhism

(3) Mahayan Bauddhism

(4)

Shaivism

Question Number : 145 Question Id : 5330722512 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which age, Bhagawat Puran was written ?

(1) Post 6" Century

(2) Pre 6" Century

(3) In the middle of 6 Century
(4) In the beginning of 6™ Century

Question Id : 5330722507 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

frar few o mmerfer @t ufew sitv west & swT S

WNTEd 99 1 YR SA-H14 et § g7 IR T oo =1 wrred it 39e1 T higd of | 9w Fa # faoy
T Y T 9 | I A 3R qeA q9 % off wiafafy o) fgdr S gd § e e Saan & w39 faem @
T 3 AR fae & w9 H 9M T | Herm: T U R Afesw 59 S g 3 5% e e S o 3R
Ik FUTh] Tl UNTEIGR el ST A1 T S9dl i Sedig qiEd @i fge gtaqfd % ®9 H Feq 51 TS o |
ST qien w1 o v suE fgaeriAT e 9 SueR faerd o 5fR 39 s I/ s o faarr fEe
STl o, ARE0 A 6 S Yol 91 SUTEeR] okl YA A1 WEE ( 9FE) YIS i i 37U Bl o | 39 9gel SUd
A1 e Ik 9 TgTgul Wi Tfdd hed 9 A o Wy o] o foera o Wi fore] & 3uTEeR S ARE 6
U UF B4 & A4 31 T fosy v Sfew Saar 9 #iR e # faem & gvem i 59y, afEa 1 el
S TR ok M 27T g Sadr THEd Bl 3 |

Sub questions
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Question Number : 141 Question Id : 5330722508 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

afqer et & g <ad HH 9 ?
(1) fao

(2) %=

(3) A

(4) P

Question Number : 142 Question Id : 5330722509 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e o W A e < €2

(1) o =i &
(2) wfea S A
(3) wfed IR sfEm
(4) Wi 3R =

Question Number : 143 Question Id : 5330722510 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=i YRA 2 I | ST GHe ooy 6 S 91 T A/an o ?

(1) T+
(2) Fom
(@) ¥
(4) T

Question Number : 144 Question Id : 5330722511 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT o o YER ¥ qera: fohe o 1 JRee g ?

(1) <M o

(2) EFEHEES
(3) We™H sig
4) 3=

Question Number : 145 Question Id : 5330722512 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YFTEd U S A R e W g ?

(1) TR G
2) YA B TS
(3) =St Tl & A
(4) B |G F URY
Sub-Section Number : 3
Sub-Section Id : 533072102
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Question Shuffling Allowed : No

Question Id : 5330722513 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

Read the following passage and answer the questions.

And the blessed one said to the Bhikkhus: 'l am delivere from all fetters, human and divine. Go
you now, and wander, for the gain of the many, for the welfare of the many, out of compassion for the
world, for the good, for the gai_n, and for the welfare of gnds and men. Let not two of you go the same
way. Preach the doctrine which is glorious in the beginning, glorious in the middle glorious at the end,
in the spirit and in the letter; proclaim a consummate, perfect, and pure life of holiness. There are beings
whose mental eyes are covered by scarcely any dust, but if the doclkrine is not preached to them, they
cannot attain salvation. They will understand the doctrine. And Iwill go also, to uruvela, to senaninigama,
in order to preach the doctrine ?

Sub questions

Question Number : 146 Question Id : 5330722514 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How many Arihants participated in the first Bhikkhu council of Buddha ?

1 75
@ 72
(@) 60
4) 68

Question Number : 147 Question Id : 5330722515 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The given passage is related to :
(1) Lankavatar Sutra

(2) Sutta Pitaka

(3) Abhidhamma Pitaka

(4) Vinay Pitaka

Question Number : 148 Question Id : 5330722516 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which book the story of Sariputra and Maudglayana is found ?
(1) Suttapitaka

2) VinayPitaka

3) Samyuti Nikay

4) Madhyama Nikay

— — —

Question Number : 149 Question Id : 5330722517 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Sutta Pitaka, which kj_ng converses with Buddha ?
(1) Bimbisara
2)  Ajatshatru
3) Shuddhodana
%)

Bindusar

A p— p—
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Question Number : 150 Question Id : 5330722518 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sujata, who served Kheer to Buddha was daughter of 7
(1) Prasannatma

(2) Senaninigatma
(3) Vanik Shuddhatma
(4) Vichitratma

Question Id : 5330722513 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

et feu 7w Tenyr @t ufew T wvel & SR Sife

faegafl =01 srfimifara FeF Fen: | Wit TR & s, I oI foora I U ¥ qW oW wedl, o ym
FU, Gelor feara & fau, geom Feam & fou, fava o w01, s & o, feq F fau, S 3ir A9 ol &
T & faw) < fyaey v Ty wuE ot ® A el od fagia o aea: S weel Suew § fage sy
AREgYT &1 SR gae o Tiegd € dfefy, efRgeier SR sfiem o afesa @ wefor w11 sHe wer €
et Tfaes =1y oTcia &t 3T oo | steefen €, Wy afs 3= o fagia =1 3uew 7a fean s & &1 3 fafo
T T R TR | A e fagra i wE o H off onf fagia o suew 39 % fom sweren | SaE i w6 amn
I SR
Sub questions

Question Number : 146 Question Id : 5330722514 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

5 i Teor | fuag uftue’ ® fohan ‘ sifea’ wnfoe &2

1 75
@ 72
(3) 60
4) 68

Question Number : 147 Question Id : 5330722515 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WA RN foRE U § Heifud 82
(1) THERR GA

(2) gAw=E

(3) ey fgees

(4) o7 foe=

Question Number : 148 Question Id : 5330722516 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YA i Hiemared 1w fora Ty § foerd 2
(1) garees

(2) famafre=s
(3) HIf FrRra
(4) T e

Question Number : 149 Question Id : 5330722517 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g4 faee 1 95 1 gar e fFg usn 9 €2

(1) fefaEm
(2)  SASTIaRT
(3) T

)

(4

fergum

Question Number : 150 Question Id : 5330722518 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a5 ol ER Tgar arell s g fagerl T o ?

(1)  FH=re

(2) ST
(3) ORI
(4) fafersmem
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